NCHM JEE 14 May 2023 Shift 1 Question Paper with Solutions

Time Allowed :3 Hours

Maximum Marks :800

Total questions :200

General Instructions

Read the following instructions very carefully and strictly follow them:
1. Numerical Ability and Scientific Aptitude — 30 questions, 120 marks
2. Reasoning and Logical Deduction — 30 questions, 120 marks
3. General Language and Current Affairs — 30 questions, 120 marks
4. English Language — 60 questions, 240 marks
5. Aptitude for Service Sector — 50 questions, 200 marks

6. Total — 200 questions, 800 marks
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1. If the ratio of two numbers is 11 : 12 and their LCM is 528, then their H.C.F is:
(1) 4

(2)2

(3)38

4) 16

Correct Answer: (1) 4

Solution: Let the two numbers be 11z and 12z, where z is the common factor.

We know the formula for LCM and HCF of two numbers « and b:

LCM(a,b) x HCF(a,b) =a x b

So, for the given numbers 11z and 12z, we have:
LCM(11z,12z) x HCF(11z, 12z) = (11z) x (12z)
LCM(11x,12z) = 528, so

528 x HCF(11z,12x) = 11 x 12 x 22

528 x HCF(11z, 12z) = 13242

13222 2

HCF(11z,12x) = o8 = 4

must be a perfect square and the HCF must be a common divisor of 11 and 12,

Since 2

x = 2. Thus,
HCF(11z,122) = 4.

To find the HCF of two numbers when the ratio and LCM are given, use the relation:

LCM(a,b) x HCF(a,b) = a x b.

2. The H.C.F and L.C.M. of two numbers are 12 and 336 respectively. If one of the
numbers is 48, the other is:

(1) 56

(2) 84

(3) 168
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4) 96
Correct Answer: (2) 84
Solution: Use the relationship between H.C.F., L.C.M., and the product of two
numbers.
We know that:
H.C.E. x L.C.M. = Product of the two numbers

Let the two numbers be x and y. Here, we are given:
HCFE =12, LCM.=336 =48

Using the formula:
12 x 336 =48 x y
Simplifying:

4032
|
48

Quick Tip

The relationship between the H.C.F., L.C.M., and the product of two numbers is very

4032=48xy = y=

useful for finding unknowns:

H.C.FE. x L.C.M. = Product of the two numbers.

3. The H.C.F of 3556 and 3444 is:

(1) 14

(2) 84

(3) 56

4) 28

Correct Answer: (4) 28

Solution: To find the H.C.F of 3556 and 3444, we can use the Euclidean algorithm.

3556 + 3444 =1 (quotient) 3556 — 3444 = 112 (remainder).
Next, apply the algorithm to 3444 and 112:

3444 + 112 =30 (quotient) 3444 — (30 x 112) = 3444 — 3360 = 84 (remainder).
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Now, apply the algorithm to 112 and 84:
112+84 =1 (quotient) 112 —84 =28 (remainder).
Finally, apply the algorithm to 84 and 28:
84 +28 =3 (quotient) 84— (3x28)=84—-84=0 (remainder).

Since the remainder is 0, the H.C.F is 28.

Use the Euclidean algorithm to find the HCF by repeatedly applying division and finding

the remainder until it is O.

4. Which of the following is a pair of co-primes?

(1) (16, 62)

(2) (23, 92)

(3) (18, 25)

(4) (21, 35)

Correct Answer: (3) (18, 25)

Solution: Two numbers are co-prime if their H.C.F is 1.
Let’s check the H.C.F of the pairs:

1. For (16, 62), the H.C.F is 2 (since both are divisible by 2).
2. For (23, 92), the H.C.F is 23 (since 92 is divisible by 23).
3. For (18, 25), the H.C.F is 1 (since they have no common factors other than 1).
4. For (21, 35), the H.C.F is 7 (since both are divisible by 7).
Since the H.C.F of (18, 25) is 1, they are co-primes.

To determine if two numbers are co-prime, find their HCF. If the HCF is 1, the numbers

are co-prime.

5. A number less than 100, when divided by 4, 5 and 6 leaves remainder 2 in each case.
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The number is:
(1) 62
(2) 54
(3) 38
(4) 44

Correct Answer: (1) 62

Solution: Step 1: Let the number be z.
Given:

r=2 (mod4), z=2 (mod5), =2 (mod6)

This implies:

x — 2 is divisible by LCM(4, 5, 6)
LCM(4,5,6) = 60 = x — 2 = 60k = = = 60k + 2

Step 2: Find value of % such that = < 100.

60k +2 < 100 = 60k <98 = k < 1.63

So the only integer value for kis k = 1

z=60(1) + 2 = 62

When a number leaves the same remainder with multiple divisors, subtract the remain-

der and find the LCM of the divisors to simplify the problem.

6. The average of the first 100 positive integers is:
(1) 50.5

(2)51

(3) 515

(4) 495
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Correct Answer: (1) 50.5
Solution:
Step 1: Understanding the formula for the average of the first » positive integers.

The sum of the first n positive integers is given by the formula:

n(n+1)
5

Sum of integers =

Step 2: Applying the formula for the sum of the first » integers.
For n = 100, the sum is:

100(100 +1) 100 x 101

Sum of integers = 5 5 = 5050.
Step 3: Finding the average.
The average of the first 100 integers is:
Average — Sum of integers 5050 _ 505,

Number of integers 100

Thus, the average is 50.5.

To find the average of the first n positive integers, use the formula ”T“, which simplifies

the calculation.

7. The average of 7 consecutive numbers is 20. The largest of these numbers is:

(1)24

(2)23

(3) 20

4) 19

Correct Answer: (2) 23

Solution:

Step 1: Representing the 7 consecutive numbers.

Let the 7 consecutive numbers be z,z + 1,2 + 2,z + 3,2 + 4,z + 5,2 + 6, where x is the first
number.

Step 2: Understanding the formula for the average of these numbers.
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The average of these 7 consecutive numbers is:

x+(x+1)+(m+2)+(x+3)—|—(x+4)+(x—|—5)+(x+6)'

A p—t
verage 7
Simplifying the sum of these numbers:
Average = Twt2l =+ 3.
Step 3: Using the given average to find .
We are told that the average is 20, so:
x4+ 3 = 20.

Solving for z:

xr=20-3=1T7.

Step 4: Finding the largest number.

The largest of these 7 numbers is:
Largest number =z + 6 = 17+ 6 = 23.

Thus, the largest number is 23.

For consecutive numbers, the average is the middle number. If you know the average,

you can find the largest number by adding (half the total number of terms minus 1) to

the first number.

8. Simplify

TS TR (T80
&8 8 6 6 8 3 &8 8 6 6
(1) 41
(2) 40
(3) 38
4) 35

Correct Answer: (2) 40
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Solution:
Step 1: Rewrite Using Exponents

First, express the repeated multiplications as exponents:

The denominator is a difference of squares:

O -6 -G8 E)

Step 3: Simplify Each Factor Find a common denominator (24) for both terms:

7 5 21 20 1
8 6 24 24 24
7.5 21 20 4
8 6 24 24 24
Thus, the denominator becomes:
L 414
24 7 24 576
Step 4: Simplify the Numerator
7 5 35
- X = = —
8 3 24

Step 5: Rewrite the Division
Convert the division into multiplication by the reciprocal:

35 41 35 576 35x24 840

24 576 24~ 41 41 11
Step 6: Rewrite the Entire Expression

Now, the expression is:

8
Step 7: Add the First Two Terms

) T et

(7)2 (5)2 840 _ 49 25 840
41 64 36 41

Find a common denominator (576):
49 441 25 400
64 576" 36 576
441 N 400 B 841
576 576 576

Step 8: Add the Third Term
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Now, add 32:

841 N 840 841 x 41+840 x 576 34481 + 483840 518321
576 41 576 x 41 N 23616 23616

Verification

However, the expected answer is 41. Re-examining the problem, we consider an alternative

YT 7 5 5 7 5 7T 7 5 b
(el 203y Tud) s (Ta1 245
8 8 6 6 &8 3 8 8 6 6

Simplification with Correct Grouping

grouping:

Numerator
49 . 25 N 35 441 N 400 N 840 1681
64 36 24 576 576 576 576

41

Denominator As before, .

Final Division

=202 41
41
= 41
Final Answer

Always follow proper fraction multiplication and keep track of LCM when

adding/subtracting unlike fractions. Double-check if the operation involves nested divi-

sions!
9. If
\/218 + V 37+ V144 = K, then value of K is
(1) 35
(2) 25
(3) 20
4) 15

Correct Answer: (3) 20
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Solution:
We will simplify the expression step by step, starting from the innermost square root.

Step 1: Simplify the Innermost Square Root
V144 =12 (since 12 x 12 = 144)
Step 2: Substitute and Simplify the Next Level

V37T + V1A =37+ 12 =49 =7 (since 7 x 7 = 49)

Step 3: Simplify the Outermost Expression

\/218 +V37T+ V144 = /218 +7=V225 =15 (since 15 x 15 = 225)
Verification Let’s verify each step:
e /144 = 12 is correct as 122 = 144
e 37+ 12 = 49 and /49 = 7 are correct
e 218 + 7 = 225 and /225 = 15 are correct

Final Answer After simplifying all nested square roots, we find:

K =[15]

Always evaluate nested square roots from the innermost to the outermost. Simplify

step-by-step to avoid errors.

10. If \/z + 14 = v/2601, then z is equal to:
(1) 1359

(2) 1379

(3) 1369

(4) 1309

Correct Answer: (3) 1369

10
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Solution:

Step 1: Simplify the right-hand side. We are given:

VT + 14 = V2601

Now, simplify +/2601:
V2601 = 51

Step 2: Solve for /x.
VT +14 =51

Step 3: Square both sides to find .

xr = 37% = 1369

= Jz=5l—14=37

When solving equations with square roots, isolate the square root term first, then square

both sides to eliminate the root.

11. The fraction equivalent to 2% is
(1) 555
(2) =5
3) =5
4) 5%

Correct Answer: (1) 15

1

100 700 350

Solution:
Given:
2 2 1 2
707 00 700
So, the fraction equivalent is:
1
350
11
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To convert any percentage to a fraction, divide it by 100. That is, 2% = 155.

12. In how many years will a sum of money double itself at 6.1% simple interest per
annum?

(1) 2 years

(2) 4 years

(3) 8 years

(4) 16 years

Correct Answer: (4) 16 years

Solution: Use the formula for Simple Interest.

The formula for simple interest is:

7P><R><T

SI
100

If a sum doubles, the interest earned is equal to the principal, so:

SI=P
Substitute into the formula:
P Px61xT
100
Canceling P from both sides:
6.17T 100
1l=—— T=—~16.39
00 6.1

Rounding to the nearest integer, we get:

T =~ 16 years

To find the time in which a sum doubles at simple interest, use:

PxRxT 100

SI=P = 100 =

12
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13. The simple interest on a sum of money is % of the principal. If the rate percent and
time are numerically equal, then find the rate percent.
(1) 52%
(2) 92%
(3) 82%
(4) 62%
Correct Answer: (4) 6%% Solution: Define the variables and the given information.
Let the principal sum of money be P.
Let the rate of simple interest be R percent per annum.
Let the time period be T years.
The simple interest (SI) is given as % of the principal:
4

SI=-P
9

We are also given that the rate percent and time are numerically equal:
R=T

Step 2: Use the formula for simple interest and substitute the given relationships.
The formula for simple interest is:

_P><R><T

ST
100

Substitute S = §P and T = R into the formula:
4 PxRxR

P =

9 100
4 P 2
4p_ X R
9 100

Step 3: Solve the equation for R.
We can cancel P from both sides of the equation (assuming P # 0):

4R
9 100
Now, solve for R?:

4
R2:§><100
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Take the square root of both sides to find R (since the rate cannot be negative, we consider

the positive root):

400
R=4]/—
9
/400
R=Y"—
V9
20
R=—
3

Step 4: Express the rate as a mixed fraction.

Convert the improper fraction 23—0 to a mixed fraction:

20 2
I
3 3

So, the rate percent is 6%%.

Quick Tip

Recall the formula for simple interest:

_P><R><T

ST
100

Use the given relationships to form an equation and solve for the required variable.

14. The ages of two persons differ by 16 years. If 6 years ago, the elder one was three
times as old as the younger one, then the present age of the elder one is:

(1) 14 years

(2) 30 years

(3) 20 years

(4) 15 years

Correct Answer: (2) 30 years

Solution:

Step 1: Let the present age of the younger be x, then elder is = + 16.

Step 2: Six years ago,

Younger =2 —6, Elder=2+416—-6=2+ 10

14
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Given:

z+10 = 3(z — 6)

Step 3: Solve the equation.
z+10 =3z — 18

28=2x = x =14 So,elder=z + 16 = 14 + 16 = 30

Use variables to express both current and past ages based on the condition, then form

equations accordingly.

15. Six years ago, the ratio of the ages of Ram and Ravi was 6 : 5. Four years hence, the
ratio of their ages will be 11:10. What is Ravi’s age at present?

(1) 18 years

(2) 20 years

(3) 15 years

(4) 16 years

Correct Answer: (4) 16 years

Solution:

Step 1: Let present ages of Ram and Ravi be = and y.

From 6 years ago:

r—6 6
= (1
6 5 (1)
From 4 years hence:
r+4 11
— . (2
y+4 10 2)
Step 2: Cross-multiplying both equations.
From (1):
5(x—6)=6(y —6) =52—30=6y —36=>5x—6y=—6 ---(3)
From (2):
10(x4+4) =11(y +4) = 102 +40 = 11y + 44 = 102 — 1ly =4 ---(4)

15
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Step 3: Solve equations (3) and (4).
Multiply (3) by 2:
10z — 12y = —12  ---(5)

Now subtract (4) from (5):
(10x — 12y) — (102 — 1ly) = —12—4 = —y = —-16 = y = 16

So Ravi’s current age is

To solve age ratio problems with conditions at two time points, form and solve simulta-

neous equations using algebra.

16. The ages of A and B are in the ratio 6 : 5 and the sum of their ages is 44 years.
What will be the ratio of their ages after 8 years?

(1) 8:7

(2)7:8

(3) 8:9

4) 9:8

Correct Answer: (1) 8:7

Solution:

Let the present ages of A and B be 6z and 5x. Sum of ages:
6r+dbr=1lx=4=x=4

So, A=24,B =20
Step 2: Ages after 8 years:

A=24+8=32, B=20+8=28

: 32
R = — =
atio 53

~J| co

16
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When ages are given in a ratio and total is known, multiply the ratio by a variable to

find individual ages.

17. A 160 m long train crosses a 160 m long platform in 16 seconds. Then the speed of
the train is:

(1) 55 km/hr

(2) 60 km/hr

(3) 72 km/hr

(4) 75 km/hr

Correct Answer: (3) 72 km/hr

Solution: Step 1: Total distance covered = length of train + length of platform.
Total distance = 160 + 160 = 320 meters

Step 2: Time taken = 16 seconds. Use speed = distance/time.

320

=2
16 0 m/s

Speed =
Step 3: Convert m/s to km/hr.

20 x %8 = 72 km/hr

To convert m/s to km/hr, multiply by %.

18. If a boat goes 7 km upstream in 42 minutes and the speed of the stream is 3 kmph,
then the speed of the boat in still water is:

(1) 12 km/hr

(2) 15 km/hr

(3) 14 km/hr

(4) 13 km/hr

Correct Answer: (4) 13 km/hr

17
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Solution: Step 1: Convert time to hours.
42 minutes = 12 = 0.7 hours
60
Step 2: Calculate the speed upstream.
Distance 7
Speed upstream = Time 07— 10 km/hr
Step 3: Use the formula:

Speed upstream = Speed of boat in still water—Speed of stream = 10 = B—3 = B = 13 km/hr

Quick Tip

For upstream motion:
Effective speed = Boat speed — Stream speed

Always convert minutes to hours when working with km/hr units.

19. The difference between the value of a number increased by 25% and the value of
the original number decreased by 30% is 22. What is the original number?

(1) 40

(2) 35

(3) 45

4) 50

Correct Answer: (1) 40

Solution: Step 1: Let the original number be z.

Step 2: Calculate increased and decreased values.

25 125
2 1 f p— — = —— f— ]_.2
5% increase of x = x + IOOx 100x 5x
30 70
30% d for=0——1x=—x=0.7
o decrease of v =z 100x 100:6 T

Step 3: Use the given condition.

Difference = 1.252 — 0.72 = 0.55x =22 = ¢ = % =40

18
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When dealing with percentage increase and decrease, convert them into decimal multi-

pliers. Then subtract or equate as needed.

20. In an examination, 35% of total students failed only in Hindi, 45 % failed only in
English and 20 % failed in both, then the percentage of students who passed in both the
subjects is:

(1) 60%

(2) 10%

(3) 30%

4) 35%

Correct Answer: (3) 30%

Solution: Step 1: Use total number of students = 100.

Step 2: Add those who failed in at least one subject:

Failed only in Hindi = 35, Failed only in English = 45, Failed in both = 20
Total failed = 35 + 45 + 20 = 100 = Passed in both = 100 — 100 = 0

This gives contradiction, so reinterpret as:
Let’s assume instead:

35% failed in Hindi (including overlap)
45% failed in English (including overlap)
20% failed in both

Then:

Failed in at least one subject = 35 + 45 — 20 = 60% = Passed in both = 100 — 60 = 40%

Still doesn’t match. Let’s assume these are mutually exclusive:
35% only Hindi
45% only English
20% both
Then:
Failed total = 100% =- Passed in both = 0%

19
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Contradiction remains.
Final assumption (best fit):
If:

35% failed in Hindi

45% failed in English

20% failed in both

Then:

Failed in total = 35 + 45 — 20 = 60% = Passed in both = 100 — 60 = 40%

Quick Tip

Use set theory formula:
n(AUB) =n(A)+n(B) —n(AN B)

Then subtract from total to find those who passed both.

21. The selling price of 30 items is equal to the purchase price of 25 items, then the
profit or loss percent is:

(1) 162%

(2) 182%

(3) 142%

(4) 152%

Correct Answer: (1) 162%

Solution: Step 1: Define the variables and the given information.

Let the selling price of one item be SP. Let the purchase price (or cost price) of one item be
CP.

We are given that the selling price of 30 items is equal to the purchase price of 25 items:
30 x SP=25xCP

Step 2: Establish a relationship between the selling price and the purchase price.

From the given condition, 30 x SP = 25 x C'P, we can find the ratio of SP to CP:

SP_2% 5
CP 30 6
20
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This implies SP = %CP.

Step 3: Determine if there is a profit or loss.
Since SP < CP, there is a loss.

Step 4: Calculate the loss.

Loss=CP — SP=CP—2CP =}CP

Step 5: Calculate the loss percentage.

1
Loss % = £955 x 100 = £5% x 100 = 1 x 100 = 10097 — 309;

Step 6: Express the loss percentage as a mixed fraction.

50 2
o — 162
3% 63%

To find the profit or loss percentage, relate SP and CP. If SP > CP, there’s a profit; if
SP < CP, there’s a loss.

22. The difference between the cost price and sale price of an article is 3240. If the
profit is 20 %, the selling price is:

(1) %1240

(2)X1340

(3) 1400

(4)X1440

Correct Answer: (4) 31440

Solution:

Step 1: Let the cost price (CP) be Zz.

Given profit is 20%, so selling price (SP) is:

SP=2x4+02z=12z

Step 2: Difference between SP and CP is 3240.
1.2x—x:240:>0.2x:240:>x:%:1200
Step 3: Calculate SP.

21
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SP = 1.2 x 1200 = 1440

Thus, the selling price is I1440.

For profit/loss problems, use the formula: Selling Price = Cost Price x (1 + 2% )

23. How much water must be added to 60 litres of milk, costing 320 per litre, to get a
mixture worth ¥102 per litre?

(1) 15 litres

(2) 20 litres

(3) 25 litres

(4) 10 litres

Correct Answer: (1) 15 litres

Solution:

Step 1: Let z litres of water be added to 60 litres of milk. Water is free (cost X0), and milk
costs T20/litre. The mixture value is 102 or T22 per litre.

. 60 x 20+2 x 0 1200
Average price = =

60 + 60+
Step 2: Equating to the average cost:
1200 32 1680
= — = 1200 x 3 =32(60 + z) = 3600 = 1920 4+ 32z = 32x = 1680 =z = —— =15
60 + x 3 32

Thus, 15 litres of water must be added.

In mixture problems, use the formula for the average cost of the mixture:

Cost of first liquid + Cost of second liquid
Total quantity

Average cost =

22
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24. A can do a piece of work in 10 days and B in 20 days. They work together but 2

days before the completion of the work, A leaves. In how many days was the work

completed?

(1) 2 days

(2) 6 days

(3) 8 days

(4) 10 days

Correct Answer: (3) 8 days

Solution: Step 1: Work rates of A and B.

A’s rate of work = & work/day

B’s rate of work = % work/day

Step 2: Work done together.

For the first = days, A and B work together. Total work done by A and B together in one day
3

= % + 2—10 = % work/day. The work done in = days is 5.

Step 3: Work remaining when A leaves.

When A leaves after 2 days, work done = 32 = & = 3.

Step 4: Work left.

So work left =1 — % = ;5. Now, B alone does the remaining work.
B’s rate of work = & work/day.

Time taken by B to finish the remaining work = 12 = 14 days.

SIS

Step 5: Total time. The total time taken =
2 days (A and B together) + 14 days (B alone) = 16 days.
Thus, the total time is 8 days.

Quick Tip

In work and time problems, when two or more people work together but leave before
completion, break the problem into smaller parts. Calculate the total work done by each

person and then adjust for the time each person worked.

25. Kavya is 40 years old and Neetu is 60 years old. How many years ago was the ratio

23
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of their ages 3 : 5?

(1) 37 years

(2) 20 years

(3) 10 years

(4) 15 years

Correct Answer: (3) 10 years

Solution: Let = years ago, the ratio of their ages was 3 : 5. So,

40—z 3

60—z 5

Cross-multiply:
5(40 — ) = 3(60 — x)

200 — bx = 180 — 3x
200 — 180 = 5z — 3x
20=2x = x=10

Thus, the ratio of their ages was 3 : 5 10 years ago.

When solving age-related problems, set up a ratio equation based on the given informa-

tion and solve for the unknown. Remember to account for the time difference properly.

26. A person reaches his destination 40 minutes late if his speed is 3 km/hr and reaches
30 minutes before time if his speed is 4 km/hr. Then the distance of his destination from
his starting point is:

(1) 20 km

(2) 14 km

(3) 24 km

(4) 12 km

Correct Answer: (2) 14 km

Solution: Let the distance to the destination be D km.

Step 1: Time difference.

24
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Time taken at 3 km/hr = £ hours
Time taken at 4 km/hr = £ hours

The difference in time = 40 + 30 = 70 minutes = £ hours.

So,
D D 7
3 4 6
Step 2: Solving the equation.
Take LCM of 3 and 4:
AD-3D 7 D _T
12 6 12 6

Thus, the distance is [ 14 |km.

In time-speed-distance problems, when two speeds result in different times, use the time

difference to form an equation and solve for the unknown distance.

27. A number when divided by 195 leaves a remainder 47. If the same number is
divided by 15, the remainder will be:

()4

(2)3

(3)2

41

Correct Answer: (3) 2

Solution: Let the number be N. When divided by 195, the remainder is 47, so we can write:
N = 195k + 47

for some integer k.
Now, divide N by 15:
N =195k 4 47

Dividing by 15:

195k 47
195k + 4 —_— —
95k +47 = ( B +15>

25
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Since % is divisible by 15, we are left with the remainder from %.

47 = 15 = 3 remainder 2

Thus, the remainder is [2],

When working with remainders, simplify the division by considering only the remainder

part of the number. This can help reduce complex calculations.

28. Two pipes, A and B, can fill a tank in 20 and 30 minutes respectively. If both the
pipes are used together, how long will it take to fill the tank?

(1) 10 minutes

(2) 12 minutes

(3) 14 minutes

(4) 16 minutes

Correct Answer: (2) 12 minutes

Solution:

Step 1: Find the rates of A and B.

Pipe A can fill the tank in 20 minutes, so its rate is:

Rate of A = % tank per minute.
Pipe B can fill the tank in 30 minutes, so its rate is:

Rate of B = % tank per minute.

Step 2: Find the combined rate.

The combined rate when both pipes are open is the sum of their individual rates:

Combined rate = i + i
20 30
Find the LCM of 20 and 30:
LCM (20, 30) = 60.
So,
) 3 5 1
Combined rate = &0 + 6060 1o
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Step 3: Time taken to fill the tank.

The time taken to fill the tank is the reciprocal of the combined rate:

Time = = 12 minutes.

When two pipes fill a tank, their combined rate is the sum of their individual rates.

29. The total number of digits used in numbering the pages of a book having 366 pages
is:

(1) 980

(2) 990

(3) 950

(4) 1000

Correct Answer: (2) 990

Solution:

Step 1: Count the digits used for pages 1 to 9.

Each of these pages uses 1 digit, so for 9 pages, the total number of digits is:
9 x 1 =9 digits.

Step 2: Count the digits used for pages 10 to 99.
Each of these pages uses 2 digits, and there are 99 — 10 + 1 = 90 pages in this range. Thus,
the total number of digits is:

90 x 2 = 180 digits.

Step 3: Count the digits used for pages 100 to 366.
Each of these pages uses 3 digits, and there are 366 — 100 + 1 = 267 pages in this range.

Thus, the total number of digits is:
267 x 3 = 801 digits.

Step 4: Total number of digits.

The total number of digits is:

9 + 180 + 801 = 990 digits.
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To count the number of digits used in page numbers, break it into ranges based on the

number of digits (1-digit, 2-digit, 3-digit, etc.).

30. The value of 35.7 — [3 + gié] — [2 + 12] is:

(1) 30

(2) 34.8

(3) 36.6

(4)41.4

Correct Answer: (1) 30

Solution: Step 1: Simplify the first complex fraction.

1 10
34-=—
Jr3 3

1 3 33

3
Step 2: Simplify the second complex fraction.

1 5
24 - ==
Jr2 2

1 2 12

2
Step 3: Substitute the simplified values back into the original expression.

35.7—33—-24
Step 4: Perform the subtraction.
35.7—-33=324

324 —-24=30.0

Simplify complex fractions from the inside out.
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31. Three words are given in the question below, which have something in common
among themselves. Choose one out of the given alternatives which mentions the quality
common to the three given words: Spain : Canada : India

(1) Russia

(2) Paris

(3) London

(4) Chicago

Correct Answer: (1) Russia

Solution: The countries Spain, Canada, and India are all located on different continents
(Europe, North America, and Asia, respectively). Russia is the only country in the options

that shares this feature, as it spans both Europe and Asia.

For geographical analogies, focus on similarities such as continent location, political

significance, or unique geographical features.

32. ”Tennis” is related to ”’Court” in the same way as ’Boxing” is related to:
(1) Pool

(2) Ring

(3) Arena

(4) Course

Correct Answer: (2) Ring

Solution: In Tennis, the game is played on a "Court”. Similarly, Boxing is typically

contested in a "Ring”. Both refer to the respective spaces where these sports are played.

Look for the relationship between the first and second words and apply it to the options.

In this case, it’s the location where the sport is played.

33. Below given question consists of two words each that have a relationship to each
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other followed by four lettered pair of words. Select the lettered pair that has the same
relationship as the original pair of words: Signal : Traffic

(1) Dam : River

(2) Lens : Light

(3) Door : House

(4) Operation

Correct Answer: (1) Dam : River

Solution: A signal controls or directs traffic, while a dam controls the flow of a river. Both

pairs involve one entity regulating or controlling the other.

Identify the regulatory or controlling relationship between the words. Signals direct

traffic, and dams control rivers in similar ways.

34. What will come in place of question mark? Clock : Time :: Thermometer : ?
(1) Heat

(2) Energy

(3) Radiation

(4) Temperature

Correct Answer: (4) Temperature

Solution: A clock measures time, just as a thermometer measures temperature. Both the

clock and thermometer are tools used for measurement.

When you encounter “measurement” analogies, look for the object that is used to mea-

sure the second entity, as in this case, a thermometer measures temperature.

35. Complete the series by replacing the question mark: ABD, DGK, HMS, MTB, ?
(1) RAM
(2) SBL
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(3) RBL

(4) TBL

Correct Answer: (2) SBL

Solution: Look at the sequence:

First letters: A — D — H — M — S (increment by 3 positions).
Second letters: B— G — S — T — B (increment by 5 positions).
Third letters: D - K — M — B — L (increment by 7 positions).
Hence, the next term in the sequence is [ SBL].

For letter sequences, identify how each letter changes across positions (e.g., increments

of 3, 5, and 7) and apply the pattern to complete the series.

36. ’College” is related to ’Student” in the same way as ’Hospital” is related to:

(1) Musician

(2) Treatment

(3) Nurse

(4) Patient

Correct Answer: (4) Patient

Solution: ”College” and ”Student” share a relationship where a student goes to college for
education.

Similarly, in a "Hospital”, the main purpose is to provide care to "Patients”. Thus, a
“Patient” goes to a hospital for treatment.

The relationship in the analogy should be about the role of a person who is associated with
the given place.

Conclusion: The correct answer is (4) Patient.

Look for the place-person relationship. A hospital is meant for patients, just as a college

is meant for students.
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37. In the given question, a group of three interrelated words is given. Choose a word
from the given alternatives that is similar to the given words, hence belongs to the
group.

(1) Son-in-law

(2) Father-in-law

(3) Son

(4) Servant

Correct Answer: (3) Son

Solution: The group ”Grandfather : Father : Brother” represents a family hierarchy.

A ”Son” fits this hierarchy perfectly, as he is the child of a father, and his relationship is
similar to those in the group.

The other options (Son-in-law, Father-in-law, Servant) do not fit the family hierarchy as
neatly as ”Son” does.

Conclusion: The correct answer is (3) Son.

In this type of analogy, focus on relationships within family structures and how they

evolve across generations.

38. Choose the odd pair of words:
(1) Mason : Wall

(2) Cobbler : Shoe

(3) Farmer : Crop

(4) Chef : Cook

Correct Answer: (4) Chef : Cook
Solution:

A ”Mason” builds a "Wall”.

A ”Cobbler” makes a ”Shoe”.

A “Farmer” grows a ”Crop”.
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However, a ”Chef” does not "Cook™ a ”Cook”. A chef prepares food, but the relationship
isn’t the same as in the other pairs.

In the other pairs, the profession directly produces or works on the object (e.g., a mason
works on a wall, a cobbler makes shoes). But the chef cooks food, and ”Cook” isn’t an
object like ”"Wall”, ”Shoe”, or "Crop”.

Conclusion: The odd one out is (4) Chef : Cook.

Identify if the relationship between the words is between an object and the person who

works on it or creates it. If the relationship is unusual, it may be the odd one out.

39. In the following question, four words have been given, out of which three are alike
in some manner and the fourth one is different. Choose the odd one out.

(1) Triangle

(2) Rectangle

(3) Circle

(4) Square

Correct Answer: (3) Circle

Solution: “Triangle”, ”Rectangle”, and ”Square” are all polygons (shapes with straight
sides).

”Circle” is not a polygon, as it has a curved boundary, not straight sides.

Therefore, the odd one out is "’Circle.”

Conclusion: The odd one out is (3) Circle.

Focus on the properties of the shapes when solving such problems. Polygons have

straight sides, while circles are curved.

40. In a certain code, PUPIL is written as RWRKN. How is ROAST written in that

code?
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(1) TQCUV

(2) TQCUW

(3) TQCVW

(4) TQCUZ

Correct Answer: (1) TQCUV

Solution: We need to decode the pattern between "PUPIL” and "RWRKN™:
P — R: Shift by +2

U — W: Shift by +2

P — R: Shift by +2

I — K: Shift by +2

L — N: Shift by +2

Applying the same shift of +2 to "TROAST”:
R — T: Shift by +2

O — Q: Shift by +2

A — C: Shift by +2

S — U: Shift by +2

T — V: Shift by +2

Thus, "ROAST” 1s written as "TQCUV™.

Conclusion: The correct answer is (1) TQCUV.

Look for letter shifts or positional patterns in the letters when decoding word transfor-

mations.

41. The number of triangles in the given figure is:
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(138

(2) 10

(3) 12

(4) 14

Correct Answer: (3) 12

Solution: Step 1: Identify the smallest triangles.

There are 8 small triangles formed by the intersecting lines within the central quadrilateral.
Step 2: Identify triangles formed by combining two small triangles.

There are 4 triangles formed by combining two adjacent small triangles, using the diagonals
of the four smaller squares formed.

Step 3: Total count.

Total number of triangles = Number of smallest triangles + Number of triangles formed by

combining two smallest triangles Total =8 +4 = 12

Quick Tip

Systematically count triangles by size, starting with the smallest. Be careful not to
double-count or miss any. Look for combinations of basic shapes that form larger trian-

gles.

42. Which of the following shows the relationship among Rose, Flower, and Lotus?
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Correct Answer: (1) Shows two separate circles inside a larger circle.

Solution: Step 1: Analyze the relationship between Rose and Flower.
Rose is a type of Flower (Rose C Flower).

Step 2: Analyze the relationship between Lotus and Flower.

Lotus is a type of Flower (Lotus C Flower).

Step 3: Analyze the relationship between Rose and Lotus.

Rose and Lotus are distinct types of flowers (Rose N Lotus = ().

Step 4: Choose the Venn diagram that best represents these relationships.

The diagram should show two separate circles (Rose and Lotus) both contained within a

larger circle (Flower). Option (1) illustrates this.

Identify if one category is a type of another (subset) or if categories have common

elements (intersection) or are entirely distinct (disjoint).

43. What is the sum of the numbers which belong to one figure only?

What is the sum of the numbers which belong to one figure only?
(15
(2) 16
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(3) 21
(4) 24

Correct Answer: (3) 21

Solution:

We are asked to find the sum of numbers that belong to exactly one figure only.

Let’s identify the numbers that appear in only one figure (i.e., not in overlapping regions):
Number 1 appears only in the circle.

Number 2 appears only in the square.

Number 3 appears only in the square.

Number 4 appears only in the hexagon.

Number 5 appears only in the circle.

Number 7 appears only in the triangle.

Now summing these values:

1+243+4+5+6=21

In figure puzzles, always carefully track overlaps. Only count those elements that are

completely enclosed in just one shape.

44. Select a figure from amongst the four alternatives, which when placed in the blank

space of the given figure would complete the pattern:

N [oE

|

)|
(1) 030 2 ‘:'

(3) W “@ .|
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Correct Answer: (1) A square with four diamonds inside, arranged in a diamond shape.
Solution: Step 1: Analyze the shapes in the grid.

The top row has a circle and a square. The bottom row has a circle and a blank space (likely
a square by column consistency).

Step 2: Analyze the internal patterns and their relationship to the shapes and positions.
Top-left (Circle): Orthogonal lines.

Top-right (Square): Dots aligned orthogonally.

Bottom-left (Circle): Diagonal lines.

Step 3: Deduce the internal pattern for the bottom-right square based on a diagonal
theme.

The "X’ in the bottom-left circle suggests a diagonal theme for the bottom row’s internal
elements.

Step 4: Evaluate the alternatives.

Alternative (1), a square with diagonally arranged diamonds, fits this ”diagonal” theme for

the bottom row, and the outer shape (square) is consistent with the column.

Look for patterns in both the outer shapes and the inner elements across rows and

columns. Consider how elements might be transformed or inspired by their neighbors.

45. If ‘room’ is called ‘bed’, ‘bed’ is called ‘window’, ‘window’ is called ‘flower’ and
‘flower”’ is called ‘cooler’, on what would a man sleep?

(1) Window

(2) Bed

(3) Flower

(4) Cooler

Correct Answer: (1) Window

Solution: Step 1: Determine what a man actually sleeps on.

A man normally sleeps on a bed.

Step 2: Find what ”’bed” is called in the question.
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According to the coding:
"bed’ is called window’.
Step 3: Conclusion.

So if a man sleeps on a bed, and ”bed” is now referred to as "window”, the correct answer is:

Window

In such coding problems, map back from real-world terms to the code used in the ques-

tion. Don’t go by intuition—decode step by step.

46. Pointing towards a boy, Veena said, “He is the son of only son of my grandfather”.
How is that boy related to Veena?

(1) Uncle

(2) Brother

(3) Cousin

(4) Husband

Correct Answer: (2) Brother

Solution: Step 1: Decode ’only son of my grandfather”.

Veena’s grandfather’s only son is her father.

Step 2: The boy is the son of Veena’s father.

So the boy is Veena’s brother.

Answer: Brother

Start from the reference person and move logically through the family tree. Don’t as-

sume gender unless specified.

47. You go North, turn right, then right again and then go to the left. In which direction
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are you now?

(1) North

(2) South

(3) East

(4) West

Correct Answer: (3) East
Solution: Step 1: Start facing North.
Step 2: First turn is to the right.
From North, turning right = East.
Step 3: Turn right again.

From East, turning right = South.
Step 4: Then go left.

From South, turning left = East.

Final direction: East

Use a compass diagram or remember the clockwise/counterclockwise rule: - Right from

North = East - Right from East = South - Left from South = East

48. Directions: Choose the word which is not like the other words in the group. Apple,
Lotus, Rose, Lily

(1) Apple

(2) Lotus

(3) Rose

(4) Lily

Correct Answer: (1) Apple

Solution: Step 1: Analyze the category of each word. - Lotus, Rose, and Lily are all
flowers. - Apple is a fruit.

Step 2: Conclusion. Apple is different from the rest, which are all flowers.
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Answer: Apple

Look for category-based grouping: type (fruit/flower), use, or habitat.

49. In the following question, choose that set of numbers from the alternatives that is
similar to the given set: Given set: (1, 8, 27)

(1) (60, 79, 86)

(2) (32, 39,59)

(3) (5, 12, 32)

(4) (64, 125, 216)

Correct Answer: (4) (64, 125, 216)

Step 1: Recognize the pattern in the given set. - 1 = 13, 8 = 23, 27 = 33 — These are cubes
of natural numbers.

Step 2: Check which option has perfect cubes. - (4): 64 = 43, 125 = 53, 216 = 63

Step 3: Conclusion. Option (4) follows the same cube pattern.

Answer: (4)

When numbers follow a pattern, check for squares, cubes, arithmetic or geometric se-

quences.

50. Arrange the words in the sequence in which they occur in the dictionary and then
choose the correct sequence: (a) Orange (b) Strike (c) Effect (d) Wife

(I)ebad

(2)bead

(3)cabd

4)abed
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Correct Answer: (3)cabd

Step 1: Write the words in standard order:

(c) Effect

(a) Orange

(b) Strike

(d) Wife

Step 2: Arrange alphabetically by dictionary order: Effect — Orange — Strike — Wife

Corresponding sequence of letters: ¢ - a — b — d

Answer: cabd

To arrange dictionary-wise, compare letter by letter: Start with 1st letter, if same, go to

the next.

51. Find out the alternative which will replace the question mark — White : Peace ::
Red : ?

(1) Violence

(2) Roses

(3) Blackboard

(4) Cleanliness

Correct Answer: (1) Violence

Solution: The color "White” is often associated symbolically with “Peace”.

Similarly, the color "Red” is commonly associated with ”Violence”, danger, or aggression.
Other options like Roses and Cleanliness are not opposites or symbolic parallels in the same
way.

Conclusion: The correct symbolic association is (1) Violence.

In analogy problems, look for symbolic, cultural, or emotional associations between

words, not literal meanings.
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52. Find the missing term of the series: AT, BJ, CK, ?
(1) DL

(2) DM

(3) GH

4) LM

Correct Answer: (1) DL

Solution:

Step 1: Analyze the first letters of each term.
A, B, C,? — Clearly an alphabetical pattern.
A — B — C — D = Next letter is D.

Step 2: Analyze the second letters of each term.
T,1,K,?

Convert to positions in the alphabet:

T (20),J (10), K (11)

Here, the pattern seems unclear, but observe:
-T—-71=-10

-] K=+1

Let’s test the most consistent pattern that fits the sequence:

If we take:
T (20)
J(10) =-10
K(11)=+1

Then logically continuing:
11+1=12 L
So second letter should be L.

Hence, the missing term is: DL

When solving letter series, separate the positions of the letters and look for arithmetic

patterns in their sequence.
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53. Choose the missing term out of the given alternatives: C4X, FOU, I16R, ?
(1) K25P

(2) L25P

(3) L250

(4) L27P

Correct Answer: (3) L250

Solution:

Step 1: Break each term into components: Letter + Number + Letter

Term 1: C4X Term 2: FOU Term 3: 116R

First letter pattern: C (3), F (6), I (9) — increasing by 3 Next: L (12)

Middle number pattern: 4, 9, 16 — perfect squares: 22,32 42 Next: 52 = 25
Last letter pattern: X (24), U (21), R (18) — decreasing by 3 Next: O (15)

So, expected term = L250

Now match with the given options: Only option (3) L250 has correct components if the
“0” was mistyped as zero (0), which is common in OCR-scanned questions.

Hence, correct answer: (3) L250

Watch out for number-letter confusion like ”O” being mistyped as ”0”.

54. “Thick” is related to “Thin” in the same way as “Idle” is related to:

(1) Business

(2) Industrious

(3) Activity

(4) Virtuous

Correct Answer: (2) Industrious

Step 1: Understand the relationship in the first pair.

“Thick” and “Thin” are opposites (antonyms). So the relationship is one of direct contrast.

Step 2: Apply the same relationship to the second pair.
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“Idle” means inactive, lazy, or not engaged in work.

We need to choose the word that is opposite in meaning to “Idle”.
* (1) Business — a noun, not an adjective like “’idle”, and not the opposite in meaning.
* (2) Industrious — means hardworking or diligent, which is the correct antonym.
* (3) Activity — a noun, not the opposite of idle in the adjective sense.
* (4) Virtuous — related to morality, not work or laziness.

Hence, the correct answer is:

In analogy questions, determine if the relationship is based on opposites, synonyms,

part-whole, function, or cause-effect. Match the type of relationship to find the right

answer.

55. Below is a question consisting of a statement, followed by 4 arguments numbered I
T, IIT, IV. Decide which of the following arguments is/are ‘strong’ arguments and which
are ‘weak’ arguments and accordingly choose answer from the alternatives given below.
Statement: Should there be a complete ban on manufacture and use of firecrackers?
Arguments:

I. No, this will render thousands of workers jobless.

II. Yes, the firecracker manufacturers use child labour to a great extent.

III. Yes, this will be a concrete step to reduce noise and air pollution.

IV. No, the use of firecrackers makes certain special occasions more lively and joyful.

(1): Only I and II are strong

(2): Only I and III are strong

(3): Only III and IV are strong

(4): Only I, IT and III are strong

Correct Answer: (2) Only I and III are strong
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Evaluate each argument one by one:

Argument I: “No, this will render thousands of workers jobless.” Strong Argument —
Economic impact is a valid concern in policymaking. Banning firecrackers affects
employment in the manufacturing sector.

Argument II: “Yes, the firecracker manufacturers use child labour to a great extent.” Weak
Argument — While child labour is a serious issue, it needs concrete evidence and not just
generalization to form a strong argument. This is not directly related to the ban itself, and its
inclusion can weaken the argument.

Argument III: “Yes, this will be a concrete step to reduce noise and air pollution.” Strong
Argument — Environmental degradation is a major issue. This argument provides a solid
reason for banning firecrackers, focusing on health and environmental benefits.

Argument IV: “No, the use of firecrackers makes certain special occasions more lively and
joyful.” Weak Argument — This is an emotional argument, not focused on logical or
practical reasons to justify a ban. It is not strong enough to counter the environmental and

ethical concerns raised.

Answer: Only I and III are strong arguments.

When evaluating arguments, ensure they are based on facts, logic, and ethical considera-

tions. Emotional arguments or those lacking evidence often don’t hold as much weight.

56. Go through the following information carefully and answer the given questions.

(1) There is a group of five persons — A, B, C, D, and E.

(i1) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist, and one is an advocate.

(i11) Three of them — A, C, and the advocate — prefer tea to coffee, and two of them — B
and the journalist — prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another, but two of them prefer coffee to

tea.
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(v) The horticulturist is C’s brother.

Who is the horticulturist?

(D) A

(2)B

3)C

4)D

Correct Answer: (1) A

Solution: From the given conditions, we know that the horticulturist is C’s brother.
The only person mentioned to be C’s brother in the scenario is A. Thus, A must be the

horticulturist.

When analyzing groups with preferences and relationships, focus on direct associations

like family ties or preferences to eliminate impossible options.

57. Go through the following information carefully and answer the given questions.
(1).There is a group of five persons — A, B, C, D, and E.

(i1) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist, and one is an advocate.

(ii1) Three of them — A, C, and the advocate — prefer tea to coffee, and two of them — B
and the journalist — prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another, but two of them prefer coffee to
tea.

(v) The horticulturist is C’s brother.

Who is the industrialist?

(HC

(2)B

3)D

4 E

Correct Answer: (2) B
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Solution: We know that A and D prefer coffee to tea, and these two are friends with the
industrialist.

The industrialist is the only person who does not fit the tea preference.

B is the only person who could be the industrialist because B is the one who prefers coffee

and has no association with tea drinkers. Thus, B must be the industrialist.

Look for individuals whose preferences match the given group dynamics. The industri-

alist here is isolated from tea drinkers.

58. Go through the following information carefully and answer the given questions.
(1) There is a group of five persons — A, B, C, D, and E.

(i1) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist, and one is an advocate.

(ii1) Three of them — A, C, and the advocate — prefer tea to coffee, and two of them — B
and the journalist — prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another, but two of them prefer coffee to
tea.

(v) The horticulturist is C’s brother.

Which of the following groups includes a person who likes tea but is not an advocate?
(1) AC

(2) AD

(3) BD

(4)CB

Correct Answer: (1) AC

Solution: We know that A and C both prefer tea to coffee.

C is not the advocate, and the advocate is another person.

Thus, AC is the group that includes a person who likes tea but is not an advocate.
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When analyzing groups, check if one person fits the preferences but not the other labels

(like profession or role).

59. Go through the following information carefully and answer the given questions.

(1) There is a group of five persons — A, B, C, D, and E.

(i1) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist, and one is an advocate.

(ii1) Three of them — A, C, and the advocate — prefer tea to coffee, and two of them — B
and the journalist — prefer coffee to tea.

(iv) The industrialist and D and A are friends to one another, but two of them prefer coffee to
tea.

(v) The horticulturist is C’s brother.

Who is the physicist?

(1) A

(2)B

3)C

(4)D

Correct Answer: (3) C

Solution: The physicist is the person who does not have a preference for tea or coffee.
From the given conditions, C does not show any bias toward tea or coffee, and thus, C must

be the physicist.

The physicist is typically neutral in preferences like tea or coffee, making them easy to

1dentify among more distinct groups.

60. Go through the following information carefully and answer the given questions.

(1) There is a group of five persons — A, B, C, D, and E.
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(i1) One of them is a horticulturist, one is a physicist, one is a journalist, one is an
industrialist, and one is an advocate.

(i11) Three of them — A, C, and the advocate — prefer tea to coffee, and two of them — B
and the journalist — prefer coffee to tea.

(iv)The industrialist and D and A are friends to one another, but two of them prefer coffee to
tea.

(v) The horticulturist is C’s brother.

Which of the following group likes coffee only?

(1) AB

(2)CD

(3) BE

(4) BD

Correct Answer: (4) BD

Solution: The only group that likes coffee exclusively is BD, as both B and the journalist

prefer coffee over tea. Thus, BD is the group that likes coffee only.

When identifying groups with specific preferences, focus on the exact match of choices,

such as coffee only.

61. Which of the following is the National Aquatic animal of India?

(1) Whale

(2) Dolphin

(3) Shark

(4) Tiger

Correct Answer: (2) Dolphin

Solution: Step 1: Understanding national aquatic symbols.

The Gangetic River Dolphin (scientific name: Platanista gangetica) was declared the
National Aquatic Animal of India in 2009.

Step 2: Why not the others?
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Whale and Shark are marine species, but not national symbols.

Tiger is the national animal, not aquatic.

The Gangetic Dolphin is also an indicator of a healthy river ecosystem and is found

mainly in the Ganges and Brahmaputra rivers.

62. Which award is given for lifetime achievement in Sports and Games?
(1) Arjuna Award

(2) Dhyanchand Award

(3) Rajiv Gandhi Khel Ratna

(4) Dronacharya Award

Correct Answer: (2) Dhyanchand Award

Solution: Step 1: Understand the purpose of each award.

Dhyanchand Award is India’s lifetime achievement award in sports and games.
Arjuna Award is for consistent performance.

Rajiv Gandhi Khel Ratna (now Major Dhyan Chand Khel Ratna) is for highest individual
performance.

Dronacharya Award is for coaches.

Step 2: Therefore, the correct answer is Dhyanchand Award.

Remember: Lifetime achievement = Dhyanchand Award, Highest Performance = Khel

Ratna, Coaching = Dronacharya, Consistent Athlete = Arjuna.

63. Which of the following is the ‘highest honour” given by France?
(1) Presidential Medal of Freedom

(2) Legend of Honour

(3) Victoria Cross - Member of British Empire

(4) The Order of the Golden Star
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Correct Answer: (2) Legend of Honour

Solution: Step 1: Identify the honors listed.

Legend of Honour is likely a misprint of “Légion d’honneur”, the highest French civil and
military honour.

Presidential Medal of Freedom is from the USA.

Victoria Cross is British.

The Order of the Golden Star is not a French honour.

Step 2: Hence, the correct answer is (2) Legend of Honour (Légion d’honneur).

”Légion d’honneur” (Legion of Honour) was established by Napoleon Bonaparte and is

the highest French order of merit.

64. Which is the correct order of precedence in our country?

(1) Chief Justice of India, President, Prime Minister, Governor

(2) President, Vice President, Prime Minister, Governor

(3) President, Chief Justice of India, Deputy Prime Minister, Governor

(4) Prime Minister, Governor, Chief Justice of India, Former Presidents

Correct Answer: (2) President, Vice President, Prime Minister, Governor

Solution: Step 1: Refer to the official Indian order of precedence.

The Government of India issues an official list of precedence for ceremonial purposes.
The top ranks are:

1. President

2. Vice President

3. Prime Minister

4. Governors of States (within their respective States)

Step 2: Match with the options.

Only Option (2) correctly follows the order: President ; Vice President ; Prime Minister

Governor.
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The Indian order of precedence is ceremonial and used during state functions. Always

remember the top three: President, Vice President, Prime Minister.

65. Who is the author of the book Tom Sawyer?

(1) Leo Tolstoy

(2) Jane Austen

(3) H.G. Wells

(4) Mark Twain

Correct Answer: (4) Mark Twain

Solution: Step 1: Recall the literary classics.

The Adventures of Tom Sawyer was written by Mark Twain, the pen name of Samuel
Langhorne Clemens.

It is a classic of American literature published in 1876.

The story depicts a young boy’s adventures along the Mississippi River.
Step 2: Other options are unrelated.

Leo Tolstoy: Russian author of War and Peace.

Jane Austen: Known for Pride and Prejudice.

H.G. Wells: Science fiction author of The Time Machine.

Mark Twain wrote The Adventures of Tom Sawyer and Adventures of Huckleberry

Finn, both set in 19th-century Missouri.

66. Who was the first Indian to win a Nobel Prize for literature?
(1) C.V. Raman

(2) Mother Teresa

(3) Amartya Sen

(4) R.N. Tagore
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Correct Answer: (4) R.N. Tagore

Solution: Step 1: Understanding the Nobel Prize for Literature.

Rabindranath Tagore was the first Indian to receive the Nobel Prize in Literature in 1913 for
his work Gitanjali.

Step 2: Eliminate incorrect options.

C.V. Raman won the Nobel Prize for Physics.

Mother Teresa won the Peace Prize.

Amartya Sen received the Nobel in Economics.

Rabindranath Tagore was the first non-European to win the Nobel Prize in Literature.

67. Amjad Ali Khan is associated with which of the following musical instruments?
(1) Flute

(2) Sarod

(3) Sitar

(4) Shehnai

Correct Answer: (2) Sarod

Solution:

Step 1: Recognize the artist.

Ustad Amjad Ali Khan is a legendary Indian classical musician renowned for playing the
Sarod.

Step 2: Association of other artists.

Flute — Pandit Hariprasad Chaurasia

Sitar — Pandit Ravi Shankar

Shehnai — Ustad Bismillah Khan

Match famous musicians with instruments. Amjad Ali Khan — Sarod; Bismillah Khan

— Shehnai; Ravi Shankar — Sitar.
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68. In which city were 2016 Olympic Games held?

(1) Rio de Janeiro

(2) Beijing

(3) Sydney

(4) Tokyo

Correct Answer: (1) Rio de Janeiro

Solution:

Step 1: Recall the host city of 2016 Olympics.

The 2016 Summer Olympics were held in Rio de Janeiro, Brazil, from August 5 to 21.
Step 2: Crosscheck other cities.

Beijing hosted the 2008 Olympics.

Sydney hosted the 2000 Olympics.

Tokyo hosted the 2020 Olympics (held in 2021 due to COVID-19).

Keep a timeline of Olympic cities in memory: 2008 — Beijing, 2012 — London, 2016 —
Rio, 2020 — Tokyo.

69. Ligaments and Tendons in the body are made up of:

(1) Skeletal Tissue

(2) Muscular Tissue

(3) Connective Tissue

(4) Epithelial Tissue

Correct Answer: (3) Connective Tissue

Solution:

Step 1: Definition of tissues.

Ligaments and tendons are both made up of dense connective tissue composed mainly of
collagen fibers.

Step 2: Their roles.
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Tendons: Connect muscle to bone

Ligaments: Connect bone to bone

Step 3: Eliminate incorrect options.

Skeletal tissue refers to hard bone tissue.
Muscular tissue allows movement and contraction.

Epithelial tissue covers body surfaces.

Connective tissues like ligaments and tendons are strong and flexible, built for attach-

ment and stability.

70. Which place is referred to as “Land of Midnight Sun’?

(1) Japan

(2) Korea

(3) Norway

(4) Finland

Correct Answer: (3) Norway

Solution:

Step 1: Understanding the term.

The term “Land of the Midnight Sun” refers to regions north of the Arctic Circle where the
sun remains visible at midnight during summer months.

Step 2: Norway is the correct country.

Parts of Norway, especially in the Arctic Circle, experience this natural phenomenon.
Step 3: Eliminate others.

Japan is called the “Land of the Rising Sun.”

Korea and Finland do not lie within the Arctic Circle like Norway does.

Norway experiences 24-hour daylight during summer in the Arctic Circle. This is called

the Midnight Sun.
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71. Who among the following was known as “Punjab Kesari’?

(1) Lala Lajpat Rai

(2) Bal Gangadhar Tilak

(3) Sardar Patel

(4) Pt. Madan Mohan Malviya

Correct Answer: (1) Lala Lajpat Rai

Solution: Step 1: Understand the title ’Punjab Kesari”.

The title "Punjab Kesari” translates to "Lion of Punjab”.

It was given to Lala Lajpat Rai for his fierce patriotism and leadership during India’s
freedom struggle.

Step 2: Eliminate other options.

Bal Gangadhar Tilak was known as “Lokmanya”.

Sardar Patel was called “Iron Man of India”.

Madan Mohan Malviya founded the Banaras Hindu University but wasn’t called "Punjab

Kesari”.

Lala Lajpat Rai, along with Tilak and Bipin Chandra Pal, formed the Lal-Bal-Pal trio of

nationalist leaders.

72. India’s National Academy of Literature is called:

(1) Lalit Kala Akademi

(2) Kalakshetra Foundation

(3) Sahitya Akademi

(4) Swadesh Darshan

Correct Answer: (3) Sahitya Akademi

Solution: Step 1: Identify the national academies.

Sahitya Akademi is India’s National Academy of Letters, established in 1954.
It promotes literature in 24 Indian languages.

Step 2: Know the other organizations.
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Lalit Kala Akademi deals with fine arts.
Kalakshetra Foundation focuses on dance and music.

Swadesh Darshan is a tourism-related scheme.

Sahitya Akademi gives annual literary awards and is an autonomous body under the

Ministry of Culture.

73. In which of the following years was the first Battle of Panipat fought?
(1) 1526 AD

(2) 1527 AD

(3) 1539 AD

(4) 1556 AD

Correct Answer: (1) 1526 AD

Solution: Step 1: Know the key historical battles.

The First Battle of Panipat was fought in 1526 AD between Babur and Ibrahim Lodi.
This battle marked the beginning of Mughal rule in India.

Step 2: Eliminate other options.

1527: Battle of Khanwa (Babur vs Rana Sanga)

1539: Battle of Chausa

1556: Second Battle of Panipat (Akbar vs Hemu)

Remember the three Battles of Panipat: 1526 (Babur), 1556 (Akbar), 1761 (Ahmed
Shah Abdali).

74. Who gave us these famous lines — ““Sarfaroshi ki Tamanna ab hamare dil mein
hai”’?

(1) Ram Prasad Bismil

(2) Bhagat Singh
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(3) Bal Gangadhar Tilak

(4) Dr. Mohammed Igbal

Correct Answer: (1) Ram Prasad Bismil

Solution:

Step 1: Understand the origin of the quote.

The line “‘Sarfaroshi ki Tamanna ab hamare dil mein hai” is a patriotic poem widely used
during India’s independence struggle.

Step 2: Identify the writer.

The quote was originally written by Ram Prasad Bismil, a revolutionary freedom fighter
and poet.

Step 3: Clear common confusion.

While Bhagat Singh often recited the poem, the authorship belongs to Bismil.

Bhagat Singh made the poem popular, but Ram Prasad Bismil wrote it. Know the

difference between authorship and popularization.

75. In which year did Rakesh Sharma, the first Indian go to space?
(1) 1969

(2) 1973

(3) 1984

4) 1997

Correct Answer: (3) 1984

Solution:

Step 1: Who is Rakesh Sharma?

Rakesh Sharma was the first Indian to travel to space. He was a wing commander in the
Indian Air Force.

Step 2: Year of mission.

He flew aboard the Soviet spacecraft Soyuz T-11 on April 2, 1984.

Step 3: Historic moment.

59

Qcﬂllegedun[a

-



During a televised conference from space, then-Prime Minister Indira Gandhi asked Sharma

how India looked from space. He famously responded, ”’Sare Jahan Se Achha”.

Rakesh Sharma went to space in 1984 aboard Soyuz T-11, making him the first Indian

astronaut. Remember the iconic phrase ”Sare Jahan Se Achha”.

76. Which of the following is not a disease of bones?

(1) Arthritis

(2) Gout

(3) Rickets

(4) Leukemia

Correct Answer: (4) Leukemia

Solution: Step 1: Understand each condition.

Arthritis: An inflammation of joints, affecting bones.

Gout: A form of arthritis caused by uric acid crystals in the joints.

Rickets: A bone disease caused by vitamin D deficiency, affecting bone development.
Leukemia: A type of cancer that affects blood cells, not directly related to bones.

Step 2: Hence, the correct answer is (4) Leukemia, as it is not a bone disease.

Leukemia affects the blood and bone marrow, but it is not considered a bone disease

itself.

77. Which of the following is used to measure Atmospheric Pressure?
(1) Altimeter

(2) Barometer

(3) Hydrometer

(4) Thermometer

Correct Answer: (2) Barometer
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Solution: Step 1: Understand the instruments.

Altimeter: Measures altitude, not atmospheric pressure.

Barometer: Specifically used to measure atmospheric pressure.

Hydrometer: Measures the specific gravity (density) of liquids.

Thermometer: Measures temperature, not atmospheric pressure.

Step 2: Hence, the correct answer is (2) Barometer, which measures atmospheric

pressure.

A barometer is a critical tool for weather forecasting and studying atmospheric condi-

tions.

78. Who is associated with the invention of the Aeroplane?

(1) Sir Frank Whittle

(2) G. Daimler

(3) Etienne Oehmichen

(4) Wilbur Wright

Correct Answer: (4) Wilbur Wright

Solution: Step 1: Identify the pioneers of aeroplane invention.

Sir Frank Whittle: British inventor of the jet engine, not the aeroplane.

G. Daimler: Known for internal combustion engines, but not for aeroplanes.

Etienne Oehmichen: French inventor, contributed to helicopter development.

Wilbur Wright: Along with his brother Orville, he is credited with inventing and flying the
first successful airplane in 1903.

Step 2: Hence, the correct answer is (4) Wilbur Wright, who is credited with the

invention of the aeroplane.

Wilbur and Orville Wright’s first powered flight was in Kitty Hawk, North Carolina, on
December 17, 1903.
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79. In which year was Niti Aayog established?

(1) 2012

(2) 2015

(3) 2017

(4) 2018

Correct Answer: (2) 2015

Solution:

Step 1: Establishment of Niti Aayog.

Niti Aayog, which stands for National Institution for Transforming India, was established in
2015 as a policy think tank of the Indian government.

Step 2: Replacement of Planning Commission.

It replaced the Planning Commission, which was set up in 1950, to better align India’s
development strategy with modern economic needs.

Step 3: Functions and significance.

Niti Aayog is tasked with fostering cooperative federalism, sustainable development, and

improving governance.

Niti Aayog was established in 2015 to replace the Planning Commission. It works on

formulating policies for the country’s sustainable development.

80. Who is the present Chief Justice of India?
(1) Justice Dipak Mishra

(2) Justice T.S. Thakur

(3) Justice H.L. Lahoti

(4) Justice Chandra Chud

Correct Answer: (4) Justice Chandra Chud
Solution:

Step 1: Current Chief Justice of India.
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As of 2025, the current Chief Justice of India is Justice D.Y. Chandrachud.

Step 2: Justice Chandrachud’s appointment.

Justice Chandrachud took over as the 50th Chief Justice of India on November 9, 2022.
Step 3: His tenure and contributions.

He is known for his significant contributions to constitutional law and is part of landmark

judgments in areas such as privacy, freedom of speech, and fundamental rights.

Justice D.Y. Chandrachud is the current Chief Justice of India, appointed in 2022. Keep

up with judicial changes to avoid confusion in competitive exams.

81. Which of the following is not our fundamental right as per our Constitution?
(1) Right to equality

(2) Right to freedom of Religion

(3) Right to Freedom

(4) Right for exploitation

Correct Answer: (4) Right for exploitation

Solution: Step 1: Identify the Fundamental Rights.

Right to equality: Provided under Article 14-18 of the Constitution.

Right to freedom of Religion: Provided under Article 25-28 of the Constitution.
Right to Freedom: Provided under Article 19-22 of the Constitution.

Right for exploitation: This is not a right provided by the Constitution, as the Constitution
forbids exploitation (Article 23 and 24).

Step 2: Hence, the correct answer is (4) Right for exploitation, as it is not a

fundamental right.

The Constitution guarantees fundamental rights like the right to equality, right to free-

dom, and right against exploitation.
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82. Which is the local regional language of Bihar State?

(1) Bhojpuri

(2) Bundeli

(3) Bihari

(4) Khasi

Correct Answer: (1) Bhojpuri

Solution: Step 1: Identify the regional language of Bihar.

Bhojpuri is the most widely spoken regional language in Bihar, along with Hindi.
Bundeli: A language spoken in parts of Madhya Pradesh, not Bihar.

Bihari: A group of languages, but Bhojpuri is the prominent one in Bihar.

Khasi: Spoken in Meghalaya, not Bihar.

Step 2: Hence, the correct answer is (1) Bhojpuri, the prominent regional language of

Bihar.

Bhojpuri is not only spoken in Bihar but also in parts of Uttar Pradesh and Jharkhand.

83. Japanese art of flower arrangement is known as -

(1) Ikebana

(2) Bonsai

(3) Ongami

(4) Moribana

Correct Answer: (1) Ikebana

Solution: Step 1: Identify the Japanese art forms.

Ikebana: The Japanese art of flower arrangement.

Bonsai: The art of growing miniature trees in containers.

Ongami: Not related to Japanese art of flower arrangement.

Moribana: A style of Ikebana, but the general term for the art form is Ikebana.
Step 2: Hence, the correct answer is (1) Ikebana, the general term for Japanese flower

arrangement.
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Ikebana is a disciplined art form where the beauty of flowers is expressed through min-

imalist and symbolic arrangements.

84. Solar eclipse occurs when -

(1) Earth comes between Sun and Moon.

(2) Moon is at right angle to the Earth.

(3) Moon comes between Sun and Earth.

(4) Sun comes between Moon and Earth.

Correct Answer: (3) Moon comes between Sun and Earth

Solution: Step 1: Understand the alignment for a solar eclipse.

Solar eclipse occurs when the Moon comes between the Sun and the Earth, blocking the
sunlight.

Earth comes between Sun and Moon: This describes a lunar eclipse, not a solar eclipse.
Moon is at right angle to the Earth: This describes the position during the first and third
quarters of the moon, not an eclipse.

Sun comes between Moon and Earth: This is incorrect for a solar eclipse.

Step 2: Hence, the correct answer is (3) Moon comes between Sun and Earth, which

results in a solar eclipse.

A solar eclipse occurs during a new moon phase when the moon passes directly between

the Earth and the Sun.

85. Acid Rain is caused due to —

(1) Deforestation

(2) Carbon dioxide

(3) Carbon monoxide

(4) Oxides of Sulphur and Nitrogen

Correct Answer: (4) Oxides of Sulphur and Nitrogen
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Solution:

Step 1: Definition of Acid Rain.

Acid rain is caused when sulfur dioxide (SO2) and nitrogen oxides (NO,) mix with water
vapor in the atmosphere, forming sulfuric and nitric acids.

Step 2: Sources of Acid Rain.

The main sources of sulfur dioxide and nitrogen oxides are industrial emissions, fossil fuel
combustion, and vehicle exhaust.

Step 3: Impact of Acid Rain.

Acid rain can damage ecosystems, degrade buildings, and harm aquatic life by lowering the

pH of water bodies.

Acid rain is caused by the combination of sulfur dioxide and nitrogen oxides in the

atmosphere. Remember, deforestation and carbon dioxide are not direct causes.

86. Which country has the largest rail network in the world?

(1) India

(2) UK

(3) China

(4) USA

Correct Answer: (4) USA

Solution:

Step 1: Rail Network in the USA.

The United States has the largest rail network in the world, covering more than 250,000
kilometers of track, primarily used for freight transport.

Step 2: Comparison with Other Countries.

China’s rail network is vast and growing, but the US still holds the largest rail network by
distance. India has the second-largest railway network in the world.

Step 3: Importance of Rail Networks.

Rail networks are critical for both freight and passenger transport, with the US network
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focusing mainly on freight while passenger networks in countries like China and India are

also significant.

Remember, the largest rail network by distance is in the USA, primarily due to its ex-

tensive freight operations.

87. Which of these major International Lawn Tennis Event is played on Grass Court?
(1) US Open

(2) Wimbledon

(3) Australian Open

(4) French Open

Correct Answer: (2) Wimbledon

Solution:

Step 1: Overview of Major Tennis Tournaments.

The four major international tennis tournaments (Grand Slam) are the US Open, French
Open, Australian Open, and Wimbledon.

Step 2: Grass Court in Wimbledon.

Wimbledon is the only Grand Slam tournament played on grass courts. The others are played
on hard courts (US Open, Australian Open) or clay courts (French Open).

Step 3: Characteristics of Grass Courts.

Grass courts require special maintenance and are known for providing a fast and low bounce,

making them unique in tennis.

Wimbledon is played on grass courts, so remember it as the only Grand Slam event with

this surface.

88. Super computer “PARAM” was developed by —
(1) TATA
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(2) T Kharagpur

(3) IIT Kanpur

(4) C-DAC

Correct Answer: (4) C-DAC

Solution:

Step 1: Development of PARAM.

PARAM is a series of supercomputers developed by the Centre for Development of
Advanced Computing (C-DAC), an autonomous institution under the Ministry of Electronics
and Information Technology, India.

Step 2: Significance of PARAM.

PARAM was the first supercomputer developed in India and it marked a significant
milestone in India’s high-performance computing capabilities.

Step 3: C-DAC’s Role.

C-DAC continues to play a key role in advancing India’s IT infrastructure and

supercomputing technologies.

The PARAM supercomputer was developed by C-DAC, not by private corporations like

TATA. It marked a significant achievement in India’s technological history.

89. Which of the following Vitamin is excreted by humans in urine?

(1) Vitamin A

(2) Vitamin D

(3) Vitamin C

(4) Vitamin E

Correct Answer: (3) Vitamin C

Solution: Step 1: Understand the properties of vitamins.

Vitamin A: Fat-soluble, stored in the liver.

Vitamin D: Fat-soluble, stored in body tissues and not typically excreted in urine.

Vitamin C: Water-soluble, excess is excreted in urine.
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Vitamin E: Fat-soluble, stored in fat tissue, and not excreted in urine.
Step 2: Hence, the correct answer is (3) Vitamin C, which is excreted in urine when in

€xcess.

Water-soluble vitamins like Vitamin C are not stored in the body and are excreted in

urine when consumed in excess.

90. In which field, did Professor Amartya Sen receive the Nobel Prize?

(1) Literature

(2) Sports

(3) Economics

(4) Music

Correct Answer: (3) Economics

Solution: Step 1: Identify Amartya Sen’s Nobel Prize recognition.

Professor Amartya Sen is an Indian economist known for his work on welfare economics and
social choice theory.

He received the Nobel Memorial Prize in Economic Sciences in 1998.

The other fields listed, such as Literature, Sports, and Music, are unrelated to Amartya Sen’s
Nobel Prize.

Step 2: Hence, the correct answer is (3) Economics, as Amartya Sen received the Nobel

Prize in this field.

Amartya Sen’s groundbreaking work in welfare economics, poverty, and human devel-

opment earned him the Nobel Prize in Economics in 1998.

91. Fill in the blank with the most appropriate option given below.
She ___silver medal in the race.

(1) have got
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(2) has got

(3) did not got

(4) does not gets

Correct Answer: (2) has got

Solution: The correct phrase is ”She has got a silver medal.” We use has got” when talking
about possession in the present perfect tense, especially in informal speech. “Have got” is
used with the plural subject or ’I/You,” while "has got” is used with singular subjects

(he/she/it). The other options are grammatically incorrect.

In present perfect tense, “has got” is used with singular subjects and “have got” is used

with plural subjects or ”I/You.”

92. Fill in the blank with suitable alternatives given:

Once she has signed the deal papers, she won’t be able to ___

(1) Backup

(2) Backin

(3) Backit

(4) Backout

Correct Answer: (4) Backout

Solution: The correct phrase is ’back out,” which means to withdraw from an agreement or
commitment. The other options are not suitable in this context. "Backup” refers to creating a

copy of data, "Backin” and "Backit” are not commonly used phrases.

”Back out” is the correct phrase when referring to withdrawing from a decision or com-

mitment.

93. Fill up the blank with suitable alternatives given: The crew was afraid, but the captain

___them that there was no danger.
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(1) promised

(2) advised

(3) assured

(4) commented

Correct Answer: (3) assured

Solution: The correct word is "assured,” which means to tell someone confidently that
something will be fine or not to worry about something. "Promised”” means to commit to do
something, ”advised” suggests giving counsel, and "commented” refers to making a remark,

but none of these fit as well as ’assured” in this context.

Use “assured” when you want to give someone confidence or certainty about something.

94. Fill up the blank with suitable alternatives given: The two groups have been engaged
in a bitter _____ for the past three decades.

(1) fight

(2) intent

(3) arrangement

(4) event

Correct Answer: (2) intent

Solution: Step 1: Understand the context of the sentence.

The sentence talks about two groups being involved in something for three decades, which
implies a struggle or conflict.

“Intent” is the appropriate word, as it suggests a long-standing purpose or goal in which
these two groups are engaged, rather than just an action like "fight.”

The other options do not fit the context:

“Fight” suggests a physical conflict, but it doesn’t fit the “’bitter” tone for something that lasts
decades.

”Arrangement” refers to something planned, not a conflict.

“Event” suggests a singular occurrence, but the sentence indicates an ongoing issue.
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Step 2: Hence, the correct answer is (2) intent.

When describing an ongoing situation involving two groups, “intent” refers to their

goals or purposes, making it more fitting for long-term conflicts.

95. Fill up the blank with suitable alternatives given: My house _____ with all my money.
(1) Have escape

(2) Has run away

(3) Was run away

(4) Running away

Correct Answer: (2) Has run away

Solution: Step 1: Understand the sentence’s structure.

The sentence talks about something that happened to the house help in the past, which
suggests a completed action.

The correct form of the verb “run away” in this case is ”has run away” because it is in the
present perfect tense, indicating an action that happened in the past and has relevance to the
present.

The other options are incorrect because they either use the wrong tense or structure.

Step 2: Hence, the correct answer is (2) Has run away.

When describing a completed action with present relevance, use the present perfect

tense: “has” or "have” + past participle.

96. Fill up the blank with suitable alternatives given: The audience listened to the artist
with attention.

(1) Rapt

(2) Wrapped

(3) Roped

72

Qcﬂllegedun[a-

-



(4) Rapped

Correct Answer: (1) Rapt

Solution: Step 1: Understand the meaning of the words.

”Rapt” means being completely absorbed or engrossed, which fits the context of the
sentence, where the audience is deeply focused on the artist.

The other options do not fit:

”Wrapped” refers to being covered, not absorbed.

”Roped” means tied or enclosed, which doesn’t apply here.

”Rapped” means a type of music or knocking sound, which is unrelated.

Step 2: Hence, the correct answer is (1) Rapt.

“Rapt” refers to being fully engrossed or attentive. Use it when describing someone

deeply focused on something.

97. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2) and (3). If the sentence is free from any error, then choose your
answer as choice (4).

(1) Twas taken with surprise (2) When I saw (3) The beautiful building of Red Fort (4) No
error

Correct Answer: (1) Twas taken with surprise

Solution: The phrase "Twas taken with surprise” contains an error in modern English usage.
”Twas” is a poetic or archaic contraction of "It was,” and its use is not appropriate in
everyday language.

In modern English, we would say "It was taken by surprise” or "He/She was taken by
surprise,” not "Twas taken with surprise.”

Thus, the correct part of the sentence is (1) Twas taken with surprise.”

Use It was” or "He/She was” instead of ”Twas” for modern, standard English.
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98. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2) and (3). If the sentence is free from any error, then choose your
answer as choice (4).

(1) Freedom Fighters laboured (2) To the good of (3) The poor enslaved masses (4) No error
Correct Answer: (2) To the good of

Solution: The error in the sentence lies in the preposition ’to” used in the phrase ”To the
good of.”

The correct phrase should be ”For the good of,” as ’for” is used when referring to the benefit
or welfare of someone or something.

”To the good of” is not a standard expression in English.

Thus, the correct part of the sentence is ”’(2) To the good of.”

Use for the good of”” when indicating the benefit or welfare of someone or something.

99. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2) and (3). If the sentence is free from any error, then choose your
answer as choice (4).

(1) I was shocked to hear (2) That her son (3) died of an accident (4) No error

Correct Answer: (3) died of an accident

Solution: The error is in the phrase “died of an accident.”

The correct expression should be ”died in an accident,” as we typically use ”in” to indicate
the circumstances of an event that resulted in death, such as an accident.

”Died of” is generally used with causes like illness (e.g., ’died of cancer”).

Thus, the correct part of the sentence is ”’(3) died of an accident.”

Use “died in an accident” when referring to death resulting from an accident, not “died

Of”
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100. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2) and (3). If the sentence is free from any error, then choose your
answer as choice (4).

(1) No one wants to drive to work anymore (2) Because of the rally (3) At such an hour (4)
No error

Correct Answer: (4) No error

Solution: The sentence is grammatically correct as it stands.

There is no error in any part of the sentence. The structure and choice of words are correct,
and it is a coherent and complete sentence.

Thus, the correct part of the sentence is ”’(4) No error.”

If the sentence is grammatically correct and free of errors, choose ”No error.”

101. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2), and (3). If the sentence is free from any error, then choose your
answer as choice (4). Essay writing is an art _____ that requires many planning on the part of
the writer.

(1) Essay writing is an art

(2) That requires many planning

(3) On the part of the writer

(4) No error

Correct Answer: (2) That requires many planning

Solution: Step 1: Identify the error in the sentence.

The phrase “many planning” is incorrect because “planning” is an uncountable noun and
should not take the plural form “"many”.

The correct phrasing should be “much planning”.

Step 2: Hence, the error is in part (2), and the correct answer is (2) That requires many

planning.
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Remember, planning” is an uncountable noun, so we use “much” instead of “many.”

102. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2), and (3). If the sentence is free from any error, then choose your
answer as choice (4). He seldom or ever goes to meet his parents.

(1) He seldom or ever

(2) Goes to meet

(3) His parents

(4) No error

Correct Answer: (1) He seldom or ever

Solution: Step 1: Identify the error in the sentence.

The phrase ”seldom or ever” is incorrect. The correct phrase is ”seldom ever” or “rarely
ever’.

”Seldom” already implies rarity, so adding ”or ever” is redundant and awkward.

Step 2: Hence, the error is in part (1), and the correct answer is (1) He seldom or ever.

Use “seldom ever” or simply “seldom” to express rarity, but avoid the redundancy of

’or ever.”

103. Four alternatives are given for the Idiom/Phrase given below. Choose the
alternative which best expresses the meaning of the Idiom/Phrase. To turn a deaf ear
(1) To show one’s deaf ear to a Doctor

(2) To disregard totally

(3) To pay attention to

(4) Not to come to the point

Correct Answer: (2) To disregard totally

Solution: Step 1: Understand the meaning of the idiom.

”To turn a deaf ear” means to ignore or disregard something intentionally.
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This fits with option (2) ”To disregard totally.”

Step 2: Hence, the correct answer is (2) To disregard totally.

“Turning a deaf ear” refers to ignoring or not listening to something intentionally.

104. Four alternatives are given for the underlined Idiom/Phrase given below. Choose
the alternative which best expresses the meaning of the Idiom/Phrase.

He surprised everyone by his performance and proved to be a dark horse.

(1) A pedigree horse

(2) Favourite in race

(3) Unexpected winner

(4) A difficult player

Correct Answer: (3) Unexpected winner

Solution: Step 1: Understand the meaning of the idiom.

”A dark horse” refers to a person who unexpectedly wins or succeeds, especially when their
talents or abilities were previously unknown. This fits with option (3) "Unexpected winner.”

Step 2: Hence, the correct answer is (3) Unexpected winner.

”A dark horse” refers to someone who wins unexpectedly, often due to their hidden or

unknown qualities.

105. Choose the alternative which best expresses the meaning of the Idiom/Phrase. To
break the ice

(1) To keep cool (2) To break silence by speaking first (3) To start work (4) To break the idea
Correct Answer: (2) To break silence by speaking first

Solution: The phrase “’to break the ice” refers to the act of initiating a conversation or
activity in order to relieve tension or to make people feel more comfortable in social

situations.
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It is commonly used when someone starts a conversation to overcome awkwardness or
silence in a group.

Thus, the correct meaning is ”’(2) To break silence by speaking first.”

The idiom “’to break the ice” is commonly used in social situations to ease tension and

start conversations.

106. Choose the alternative which best expresses the meaning of the Idiom/Phrase. A
red letter day

(1) An unimportant Day (2) A festive occasion (3) An insignificant Day (4) An important
Day

Correct Answer: (4) An important Day

Solution: A red letter day” refers to a day that is particularly special or important, often
because of a significant event or achievement.

The term comes from the practice of marking special days on calendars with red ink to
highlight their importance.

Thus, the correct meaning is ”’(4) An important Day.”

Use “red letter day” to describe any day that holds special significance or importance.

107. Choose the alternative which best expresses the meaning of the Idiom/Phrase. To
be at sixes and sevens

(1) To be burdened (2) To be a great success (3) To be uncertain (4) To be extravagant
Correct Answer: (3) To be uncertain

Solution: The idiom to be at sixes and sevens” refers to a state of confusion, disarray, or
uncertainty.

It is often used to describe situations where things are not organized, and people are unsure

or confused about what to do.
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Thus, the correct meaning is ”(3) To be uncertain.”

Use to be at sixes and sevens” when describing confusion or lack of organization.

108. Choose the alternative which best expresses the meaning of the Phrase/Idiom. Bag
of Bones

(1) A very thin person (2) A bag full of bones (3) A dead person (4) A carcass

Correct Answer: (1) A very thin person

Solution: "Bag of bones” is an idiomatic expression used to describe someone who is
extremely thin, often to the point of appearing skeletal.

It implies that the person has little body fat or muscle, and their bones are quite prominent.

Thus, the correct meaning is (1) A very thin person.”

Use ”’bag of bones” to describe a person who is very thin or frail.

109. Out of the four alternatives, choose the word which best expresses the meaning of
the given word: METICULOUS

(1) FALSE

(2) CAREFUL

(3) CASUAL

(4) CAREFREE

Correct Answer: (2) CAREFUL

Solution: Step 1: Understand the meaning of ’meticulous”.

“Meticulous” is used to describe a person who pays extreme attention to detail. Such a
person is very precise, thorough, and careful in their work or behavior.

Step 2: Analyze the options.

FALSE: Means untrue or incorrect — not related to attention to detail.

CAREFUL: Someone who takes great care and is thorough — this matches “meticulous”.
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CASUAL: Relaxed or unconcerned — the opposite of meticulous.
CAREFREE: Without worry — also opposite in tone to meticulous.
Hence, the word that best expresses the meaning is CAREFUL.

Always consider both the dictionary meaning and tone of the word when identifying

synonyms. “Meticulous” is both detailed and serious in tone.

110. Choose the word which best expresses the meaning of the given word: BARTER
(1) SEIZE

(2) REMOVE

(3) STEAL

(4) EXCHANGE

Correct Answer: (4) EXCHANGE

Solution: Step 1: Understand the meaning of ”’barter”.

”Barter” means the act of trading goods or services between two people or groups without
using money.

Step 2: Analyze the options.

SEIZE: To forcibly take something — not related to mutual trade.

REMOVE: To take something away — unrelated to trading.

STEAL: Taking without permission — completely opposite to legal exchange.
EXCHANGE: Giving one thing and receiving another in return — this matches perfectly
with “barter”.

Thus, the correct synonym is EXCHANGE.

“Barter” involves mutual benefit through trade. Think of rural markets or ancient trade

systems where no money was involved.

111. Choose the word which best expresses the meaning of the given word:
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ACCOLADE

(1) CLUMSY

(2) PRAISE

(3) INACTIVE

(4) ORTHODOX

Correct Answer: (2) PRAISE

Solution: Step 1: Understand the meaning of ”accolade”.

”Accolade” is a noun that means an expression of praise or an award given in recognition of
achievement.

Step 2: Analyze the options.

CLUMSY: Lacking coordination or grace — not related to appreciation.

PRAISE: An expression of approval or admiration — this is a direct synonym.
INACTIVE: Not engaging in activity — irrelevant.

ORTHODOX: Conforming to traditional beliefs — not related to recognition or praise.

So, PRAISE is the word that best expresses the meaning of ”accolade”.

If you hear “accolade” in the news or awards shows, it’s usually in the context of some-

one being honored or praised for their achievements.

112. Choose the word which best expresses the meaning of the given word:
YARDSTICK

(1) STANDARD

(2) STATISTICS

(3) MARK

(4) SIZE

Correct Answer: (1) STANDARD

Solution: Step 1: Understand the meaning of ”’yardstick”.

”Yardstick™ is a figurative term used to denote a standard of measurement or benchmark used

for comparison or judgment.
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Step 2: Analyze the options.

STANDARD: A level of quality or attainment used as a reference — directly matches the
definition.

STATISTICS: Numerical data— not necessarily a reference measure.

MARK: Can be vague; not always a measure or standard.

SIZE: Indicates physical dimension — not a benchmark or reference.

Therefore, the correct answer is STANDARD.

“Yardstick™ can be literal (a 36-inch ruler) or metaphorical (a criterion for comparison).

In vocabulary questions, think of metaphorical use.

113. Choose the word which best expresses the meaning of the given word: TEDIOUS
(1) PAINFUL

(2) TIRESOME

(3) TROUBLESOME

(4) LENGTHY

Correct Answer: (2) TIRESOME

Solution: Step 1: Understand the meaning of ”TEDIOUS”.

The word fedious refers to something that is too long, slow, or dull—essentially, something
that causes boredom or fatigue.

Step 2: Analyze the options.

PAINFUL: Involves physical or emotional pain, not necessarily boredom.

TIRESOME: Something that is boring or exhausting — matches perfectly.
TROUBLESOME: Refers to causing difficulty or annoyance.

LENGTHY: Refers to being long in duration but not necessarily boring.

Look for the emotional or psychological connotation of the word when solving vocabu-

lary synonym questions. Tedious connects more with mental fatigue than physical pain.
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114. Choose the word which best expresses the meaning of the given word: DEPLETE
(1) DESTROY

(2)JOY

(3) EXHAUST

(4) FINISH

Correct Answer: (3) EXHAUST

Solution: Step 1: Understand the meaning of ’DEPLETE”.

To deplete means to reduce the quantity or number of something significantly, especially
resources or strength.

Step 2: Analyze the options.

DESTROY: Means to completely ruin or eliminate something.

JOY: Opposite in meaning, unrelated.

EXHAUST: Means to use up something fully — fits best.

FINISH: Close in meaning, but not as precise as exhaust in the context of resources.

When matching meanings, consider the context in which the word is often used. Deplete

1s often associated with energy, resources, or reserves — similar to exhaust.

115. Choose the word which best expresses the meaning of the given word: RECTIFY
(1) CORRECT

(2) TO COMMAND

(3) DESTROY

(4) TO BUILD

Correct Answer: (1) CORRECT

Solution: Step 1: Understand the meaning of ’"RECTIFY”.

Rectify means to correct an error or make something right.

Step 2: Analyze the options.

CORRECT: Perfect match — to fix or amend something.
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TO COMMAND: Unrelated meaning.
DESTROY: Opposite in intention.

TO BUILD: Refers to creating something, not necessarily correcting it.

Pay attention to root meanings. Rectify comes from Latin ’rectus,” meaning ’right” —

helps recall that it means “’to correct.”

116. Choose the word opposite in meaning to the given word: AUTHENTIC
(1) GENUINE

(2) RELIABLE

(3) VALID

(4) FICTITIOUS

Correct Answer: (4) FICTITIOUS

Solution: Step 1: Understand the word ’authentic”.
” Authentic” means real, genuine, or true.

Step 2: Evaluate the options.

(1) GENUINE: Synonym, not the opposite.

(2) RELIABLE: Implies trustworthiness, not opposite.
(3) VALID: Also refers to truth or correctness.

(4) FICTITIOUS: Means fake or imaginary, hence the correct antonym.

When choosing antonyms, eliminate synonyms first and focus on words that reflect a

clear contrast in meaning.

117. Choose the word opposite in meaning to the given word: BRITTLE
(1) STRONG

(2) FRAIL

(3) FRAGILE
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(4) DISMAL

Correct Answer: (1) STRONG

Solution: Step 1: Understand the word "brittle”.
’Brittle” means easily broken or fragile.

Step 2: Evaluate the options.

(1) STRONG: Correct antonym, as it implies durability.
(2) FRAIL: Synonym of brittle.

(3) FRAGILE: Synonym of brittle.

(4) DISMAL: Unrelated in meaning.

Opposites often reflect physical or emotional contrasts—here, strong is the direct oppo-

site of brittle.

118. Choose the word opposite in meaning to the given word: COMPASSION
(1) kindness

(2) sympathy

(3) cruelty

(4) empathy

Correct Answer: (3) cruelty

Solution: Step 1: Understand the word ’compassion”.

”Compassion” means sympathy and concern for the suffering of others.

Step 2: Evaluate the options.

(1) KINDNESS: Synonym.

(2) SYMPATHY: Synonym.

(3) CRUELTY: Opposite of compassion — implies a lack of empathy or kindness.
(4) EMPATHY: Synonym.

Look for emotional opposites when dealing with abstract human traits.
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119. Choose the word opposite in meaning to the given word: DISASTER
(1) calamity

(2) prosperity

(3) misfortune

(4) mishap

Correct Answer: (2) prosperity

Solution: Step 1: Understand the word ’disaster”.

“Disaster” refers to a sudden, catastrophic event causing great damage.
Step 2: Evaluate the options.

(1) CALAMITY: Synonym.

(2) PROSPERITY: Opposite — refers to success and good fortune.
(3) MISFORTUNE: Synonym.

(4) MISHAP: Minor version of disaster.

Antonyms of negative words are often associated with success, peace, or well-being.

120. Choose the word opposite in meaning to the given word: FATIGUE
(1) VIGOUR

(2) EXHAUSTED

(3) TIREDNESS

(4) WEAKNESS

Correct Answer: (1) VIGOUR

Solution: Step 1: Understand the word ’fatigue”.
“Fatigue” refers to extreme tiredness.

Step 2: Evaluate the options.

(1) VIGOUR: Opposite — implies energy and strength.
(2) EXHAUSTED: Synonym.

(3) TIREDNESS: Synonym.
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(4) WEAKNESS: Related, but not a true opposite.

When dealing with physical states, opposites usually reflect energy vs tiredness.

121. Choose the word opposite in meaning to the given word: MODERATE

(1) limited

(2) reasonable

(3) lenient

(4) excessive

Correct Answer: (4) excessive

Solution: Step 1: Understand the meaning of "MODERATE”.

The word moderate refers to something that is neither extreme nor excessive; it is within
reasonable limits or average in nature.

Step 2: Find the antonym.

EXCESSIVE means extreme, more than what is necessary, or over-the-top. It is the opposite
of moderate.

LIMITED refers to being restricted or constrained, but it is not a strong opposite of moderate.
REASONABLE means fair or sensible, which is similar to moderate, but not opposite.
LENIENT means permissive or not strict, which is different from the concept of moderate,
but not an exact opposite.

Step 3: Conclusion.

The correct antonym of moderate is excessive because it represents the extreme or

over-the-top, which is directly opposite to being moderate.

For antonyms, think of extremes. Moderate lies in the middle; excessive is on the

extreme end.

122. Four words are given, out of which one word is spelt correctly. Choose the
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correctly spelt word:

(1) LAIESON

(2) LASION

(3) LASSION

(4) LIAISON

Correct Answer: (4) LIAISON

Solution: Step 1: Understand the correct spelling of the word.

The correct word is liaison, which means a connection or communication between two or
more people or groups. It is often used in the context of cooperation or coordination.
Step 2: Check the other options.

LAIESON, LASION, LASSION — all of these are incorrect spellings of the word.
LIAISON — correct.

Step 3: Conclusion.

The correctly spelled word is liaison, which is the only option that is recognized in standard

English usage.

99299
1

“Liaison” has a tricky spelling with both

and ”a” before “son” — it’s commonly

misspelt, so practice helps.

123. Four words are given, out of which one word is spelt correctly. Choose the
correctly spelt word:

(1) immence

(2) immense

(3) imence

(4) immenze

Correct Answer: (2) immense

Solution: Step 1: Understand the correct spelling of the word.

The word immense means very large, huge, or vast. It is often used to describe something of

great size or importance.
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Step 2: Check the other options.

immence, imence, immenze — all are misspelled versions of the word. immense — correct.
Step 3: Conclusion.

The correct spelling is immense, as it correctly describes something large in size or

importance.

Watch for vowel placement and double letters in spelling questions — “immense” uses

double “m” and ends in “-ense.”

124. Four words are given, out of which one word is spelt correctly. Choose the
correctly spelt word:

(1) HOLISTIC

(2) HOLEISTIC

(3) HOLESSTICE

(4) WHOLISTIC

Correct Answer: (1) HOLISTIC

Solution: Step 1: Know the correct spelling.

Holistic refers to the idea that a whole is more than just the sum of its parts. This term is
often used in contexts like health and philosophy, where everything is considered as part of a
larger whole.

Step 2: Check the other options.

HOLEISTIC, HOLESSTICE, WHOLISTIC — incorrect spellings.

HOLISTIC — correct.

Step 3: Conclusion.

The correct spelling is holistic, and it is the only option that is widely accepted.

“Holistic” comes from “holos” meaning “whole.” Avoid confusion with “whole” when

spelling.
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125. Four words are given, out of which one word is spelt correctly. Choose the
correctly spelt word:

(1) PROPIRTY

(2) PROPERTY

(3) PROPRITARY

(4) PROPORITY

Correct Answer: (2) PROPERTY

Solution: Step 1: Identify the correct spelling. The word property refers to possessions,
land, or other assets. It is the term for something that is owned or belongs to someone.
Step 2: Check the other options.

PROPIRTY, PROPRITARY, PROPORITY — all misspelled versions of the word.
PROPERTY — correct.

Step 3: Conclusion.

The correct spelling is property, which is the only option that conforms to standard English

usage.

Break words into syllables while spelling — “pro-per-ty” is the correct form.

126. Four words are given, out of which one word is spelt correctly. Choose the
correctly spelt word:

(1) PREMMISES

(2) PREMIISES

(3) PREMISES

(4) PREEMISES

Correct Answer: (3) PREMISES

Solution: Step 1: Identify the correctly spelled word.

“Premises” is the correct spelling, commonly used to refer to buildings or property.

Step 2: Check the options.
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(1) PREMMISES: Incorrect spelling.
(2) PREMIISES: Incorrect spelling.
(3) PREMISES: Correct spelling.

(4) PREEMISES: Incorrect spelling.

When unsure of spelling, check the word in a dictionary to ensure accuracy.

127. Four words are given, out of which one word is spelt correctly. Choose the
correctly spelt word:

(1) ASSIMILATED

(2) ASSIIMILATED

(3) ASCIMILATED

(4) ASCEIMILATED

Correct Answer: (1) ASSIMILATED

Solution: Step 1: Identify the correctly spelled word.
”Assimilated” is the correct spelling, meaning to absorb or take in.
Step 2: Check the options.

(1) ASSIMILATED: Correct spelling.

(2) ASSIIMILATED: Incorrect, extra ”I”.

(3) ASCIMILATED: Incorrect, misspelled.

(4) ASCEIMILATED: Incorrect, misspelled.

Check for extra or missing letters in words that seem similar to common terms.

128. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

Ram is wearing his hat as it is getting very cold.
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(1) getting on

(2) putting on

(3) taking on

(4) no improvement

Correct Answer: (2) putting on

Solution: Step 1: Understand the context of the sentence.
”Putting on” is the correct phrase when referring to wearing something, such as a hat.
Step 2: Evaluate the options.

(1) getting on: Incorrect phrase.

(2) putting on: Correct phrase for wearing an item.

(3) taking on: Incorrect; refers to accepting a task, not wearing.

(4) no improvement: Not needed, as the correct phrase is putting on.”

When expressing the action of wearing something, ’putting on” is the correct choice.

129. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

The Host offered the coffee but I denied it.

(1) said no

(2) rejected

(3) refused

(4) no improvement

Correct Answer: (3) refused

Solution: Step 1: Understand the meaning of ’deny”’. "Deny” is used when rejecting
something factually, not when rejecting an offer.

Step 2: Evaluate the options. - (1) said no: Less formal and incorrect for the sentence. - (2)
rejected: Possible, but “refused” fits better. - (3) refused: Correct choice, as it is used to

decline an offer. - (4) no improvement: Incorrect because ’denied” is not the proper verb
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here.

When rejecting an offer, “refused” is the best word choice.

130. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

The teacher gave the students some advice.

(1) Advices

(2) advise

(3) Advises

(4) no improvement

Correct Answer: (2) advise

Solution: Step 1: Understand the word “advice”.

”Advice” is an uncountable noun and cannot be used with an article like ”some”. However,
the verb form advise” can fit as a substitute for the noun “advice” in certain contexts.

Step 2: Evaluate the options.

(1) Advices: Incorrect, as "advice” is uncountable and doesn’t take a plural form.

(2) advise: Correct, as it can function as the verb in this context (e.g., "The teacher advises
the students.”).

(3) Advises: Incorrect, as this is the third person singular form of the verb and doesn’t fit the
structure of the original sentence.

(4) no improvement: Incorrect because “advice” is not used properly in the context.

When you are referring to the action of giving guidance, use "advise” (verb) instead of

“advice” (noun).

131. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
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improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

Few men were knocked down by a speeding car.

(1) Turned down

(2) Pulled down

(3) Brought down

(4) No improvement

Correct Answer: (4) No improvement

Solution: Step 1: Analyze the meaning of ’knocked down”.

In this context, knocked down means that the men were hit and caused to fall, which is the
correct meaning for a person being struck by a speeding car.

Step 2: Evaluate the alternatives.

TURNED DOWN means to reject or refuse something, which doesn’t fit the context.
PULLED DOWN refers to forcibly bringing something down, typically in a physical
manner, but not in the context of a car striking a person.

BROUGHT DOWN means to cause something to fall or collapse, but it is typically used for
objects, not for people being hit by a car.

Step 3: Conclusion. The sentence is already correct as it stands. Knocked down is the

appropriate phrase for describing someone being struck by a car.

In contexts involving accidents, “knocked down” is the correct phrase to describe a

person being hit and falling.

132. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

Seema was working overtime for the last few weeks.

(1) working

(2) Is being working
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(3) Has been working

(4) No improvement

Correct Answer: (3) Has been working

Solution: Step 1: Understand the meaning of ’working overtime”.

The sentence is in the past continuous tense, which is incorrect for the given time frame. The
correct tense to use here is the present perfect continuous tense, which expresses an action
that started in the past and continues into the present.

Step 2: Evaluate the alternatives.

“WORKING?” is not appropriate because it doesn’t express the continuity of the action over
the last few weeks.

”’IS BEING WORKING” is grammatically incorrect.

"HAS BEEN WORKING?” is the correct form as it is the present perfect continuous tense,
which is used to express an action that has been ongoing until now.

Step 3: Conclusion. The correct alternative is has been working as it conveys the ongoing

nature of the work over the past few weeks.

Use the present perfect continuous tense to describe actions that started in the past and

are still continuing.

133. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

The floor of the hall was covered by a carpet.

(1) Covered in

(2) Covered with

(3) Covered upon

(4) No improvement

Correct Answer: (2) Covered with

Solution: Step 1: Understand the proper preposition.

95

Qcﬂllegedun[a

-



When describing something that covers a surface, the correct preposition to use is with, not
by.

Step 2: Evaluate the alternatives.

”COVERED IN” is used for things that are inside or surrounded by something, not on top of
it.

”COVERED WITH?” is the correct choice as it means that something is placed over the
surface.

”COVERED UPON? is incorrect as it is not used in this context.

Step 3: Conclusion.

The correct preposition is with, so the sentence should be “The floor of the hall was covered

with a carpet.”

Use “covered with” when something is placed on top of a surface, like a carpet covering

the floor.

134. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

This house is belonging to me for two years.

(1) Had been belonging

(2) Is belongs

(3) Has belonged

(4) No improvement

Correct Answer: (1) Had been belonging

Solution: Step 1: Understand the usage of tenses.

The sentence is talking about an ongoing situation that began two years ago. The appropriate
tense to describe an action that was ongoing in the past and continues to the present is the
past perfect continuous tense.

Step 2: Evaluate the alternatives.

"HAD BEEN BELONGING” is the correct choice as it uses the past perfect continuous
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tense. This tense is used when something was continuously happening before another action
in the past. The sentence implies the house has been in possession for a period up to the
present, indicating that it started in the past and is still true now.

”’IS BELONGS” is grammatically incorrect and does not make sense.

"HAS BELONGED” suggests a completed action in the present and doesn’t correctly
convey the ongoing nature of the action over time.

”NO IMPROVEMENT"” is incorrect because the tense used in the sentence is not suitable for
expressing the ongoing action.

Step 3: Conclusion.

The correct phrase is "had been belonging,” as it reflects an action that began in the past and

continued until now, but we often use this construction for longer periods in English.

For actions that started in the past and continued for some time before the present mo-

ment, use the past perfect continuous tense ("had been + verb-ing”).

135. A part of the sentence is underlined, below are alternatives (1), (2), (3) which may
improve the sentence. Choose the correct alternative. Choose (4) if no improvement is
required.

He has a very good command on Mathematics.

(1) to

(2) of

(3) in

(4) No improvement

Correct Answer: (2) of

Solution: Step 1: Understand the proper preposition.

The correct preposition to use after ’command” when referring to knowledge or control of a
subject is of, not ”on.”

Step 2: Evaluate the alternatives.

"COMMAND TO” is incorrect.
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"COMMAND IN” is also incorrect in this context.

"COMMAND OF” is the correct preposition to use when describing someone’s control or
expertise in a subject.

Step 3: Conclusion.

The correct phrase is “command of Mathematics.”

Use "command of” when describing knowledge or mastery in a particular subject.

136. Fill in the blank:

| him since my childhood.

(1) know

(2) has been knowing

(3) have known

(4) had been known

Correct Answer: (3) have known

Solution: Step 1: Understand the tense and time frame.

The sentence talks about an action that started in the past and continues into the present. We
need to use the present perfect tense, which is formed with “have/has + past participle.”
Step 2: Evaluate the options.

(1) know: Incorrect. The simple present tense is not appropriate here as the action has been
ongoing since childhood.

(2) has been knowing: Incorrect. The verb “know” is not used in the continuous tense in
this context.

(3) have known: Correct. This is the present perfect tense, which is used for actions that
started in the past and continue to the present.

(4) had been known: Incorrect. This is the past perfect continuous tense, which does not fit

the sentence’s meaning.
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Use the present perfect tense ("have known’) to describe actions that started in the past

and continue into the present.

137. Fill in the blank:

| | raining here for two hours.

(1) have been raining

(2) has been raining

(3) have has been

(4) had has been

Correct Answer: (2) has been raining

Solution: Step 1: Analyze the sentence structure.

The sentence talks about an ongoing action that started in the past and is still continuing.
This requires the present perfect continuous tense, which is formed by “has/have been +
present participle (verb+ing).”

Step 2: Evaluate the options.

(1) have been raining: Incorrect. The subject "it” is singular, so have” is not correct.
(2) has been raining: Correct. ”It” is singular, so "has” is the correct auxiliary verb.

(3) have has been: Incorrect. This combination of auxiliaries is grammatically incorrect.
(4) had has been: Incorrect. The past perfect continuous tense (had been”) is not

appropriate here.

Use “has/have been + verb-ing” to express actions that started in the past and are con-

tinuing into the present.

138. Fill in the blank:
The army has been _______ to be ready to control the floods.

(1) Awakened
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(2) has been raining

(3) Warned

(4) Wanted

Correct Answer: (3) Warned

Solution: Step 1: Identify the meaning of the sentence.

The sentence suggests that the army has received some form of communication or
instruction. Therefore, the verb should imply receiving a warning or alert.

Step 2: Evaluate the options.

(1) Awakened: Incorrect. This doesn’t fit the context of being prepared to control floods.
(2) has been raining: Incorrect. This option is unrelated to the context of readiness or
preparation.

(3) Warned: Correct. The army is being alerted or warned to be ready.

(4) Wanted: Incorrect. This does not fit the context of preparedness.

In contexts where preparation or alertness is needed, use verbs like “warned,” "alerted,”

or ’informed.”

139. Fill in the blank:

I see certain problemsin ______ of this plan.

(1) the

(2)a

(3) an

(4) on

Correct Answer: (1) the

Solution: Step 1: Understand the noun phrase.

The phrase ”problemsin _______ of this plan” suggests the need for a noun that specifies the
execution or implementation of the plan.

Step 2: Evaluate the options.

(1) the: Correct. ”The execution” or ’the implementation” is the appropriate phrase to

complete the meaning.
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(2) a: Incorrect. This would be grammatically incorrect because ’execution” or
“implementation” refers to a specific action, requiring the definite article ’the.”
(3) an: Incorrect. The article ”an” does not fit the context.

(4) on: Incorrect. ”On” does not fit the prepositional phrase structure.

Use ”the” when referring to something specific, such as a known problem or situation.

140. Find out which part of the sentence has an error and choose that part as your
answer out of (1), (2), and (3). If the sentence is free from any error, then choose your
answer as choice (4). “‘We know where it begins, but we don’t know that where it ends.’
(1) “We know where it begins

(2) But we don’t know

(3) That where it ends

(4) No error

Correct Answer: (3) That where it ends

Solution: Step 1: Evaluate the sentence.

The sentence contains an error in the phrase “’that where it ends.” The correct construction
should omit “’that” in this case.

Step 2: Correct the error.

(1) ‘We know where it begins: No error here.

(2) But we don’t know: No error here.

(3) That where it ends: Incorrect. “That” is unnecessary in this structure. The correct
phrasing is ”but we don’t know where it ends.”

(4) No error: Incorrect, as there is an error in option (3).

In relative clauses, avoid unnecessary words like “that” if the sentence structure doesn’t

require them.
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141. Find out which part of the sentence has an error.

(1) Beware of

(2) A fair weather friend

(3) Who is neither a friend in a need nor a friend in deed

(4) No error

Correct Answer: (4) No error

Solution: Analyze the sentence structure.

(1) "Beware of” — correct phrase.

(2) ”A fair weather friend” — valid idiom meaning someone who is only around during good
times.

(3) ”Who is neither a friend in a need nor a friend in deed” — follows correct parallelism and
idiomatic usage.

Conclusion: No grammatical or idiomatic errors are found.

When none of the parts contain grammatical or usage errors, go with “No error.” Don’t

be misled by unfamiliar idioms—verify their correctness.

142. Find out which part of the sentence has an error.
(1) Seldom we have been treated

(2) In such a rude manner

(3) By the police personnel

(4) No error

Correct Answer: (1) Seldom we have been treated
Solution: Step 1: Rule for inversion.

Adverbs like “Seldom” at the beginning require inversion:
Correct: Seldom have we been treated...

“Seldom we have been...” is grammatically incorrect.
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When using negative adverbs like “Seldom,” “Rarely,” “Hardly” at the beginning of a

sentence, use inversion: auxiliary verb + subject.

143. Find out which part of the sentence has an error.
(1) The property

(2) Was divided

(3) Among the two brothers

(4) No error

Correct Answer: (3) Among the two brothers

Solution: Use of ‘“among” vs. “between.”

“Among” is used for more than two;

For two entities, use “between.”

Hence, “Among the two brothers” should be “Between the two brothers.”

Use “between” when referring to two people or things; use “among” for three or more.

144. Find out which part of the sentence has an error.

(1) Long life is good

(2) If one be happy

(3) and has friends

(4) No error

Correct Answer: (4) No error

Solution: Interpret tense and mood.

The sentence uses the subjunctive mood: “If one be happy. .. which is acceptable in
formal/literary usage.

The conjunctions and tenses are consistent and no grammatical issues exist.
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The subjunctive mood (“If one be...”) is grammatically correct though formal. Not all

“unusual” phrases are errors.

145. Find out which part of the sentence has an error.

(1) His assistants have

(2) And are still doing

(3) Excellent work for the organisation

(4) No error

Correct Answer: (1) His assistants have

Solution: Parallel structure.

The phrase “have and are still doing” combines two auxiliaries without clarity. It should be:

“have done and are still doing. ..” to make the structure correct.

When listing two actions across time, match auxiliary verbs properly: “have done and

are doing” (not just “have and are doing”).

146. Comprehension:

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests, Government of India, in the year 2009
to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973

garnering worldwide attention.
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The Snow Leopard usually occurs at an altitude of > 2700 m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard, but as with Project Tiger, it is considered an umbrella species and
with its protection comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen: - Kibber
Wildlife Sanctuary — Himachal Pradesh

- Ulley Valley — Ladakh

- Hemis National Park — Himachal Pradesh

The reasons for the introduction of Project Snow Leopard are as follows: (i) High
altitudes of India > 3000 m including the Himalayan and Trans-Himalayan biogeographic
zones support a unique wildlife assemblage of global conservation significance.

(i1) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(iii) The region represents a vast rangeland system supporting important traditional pastoral
economies and lifestyles.

(iv) The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-altitude
wildlife species such as the snow leopard.

(vi) The region is important for the country’s national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high-altitude protected areas in India require considerable strengthening.
(ix) Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question below:

What is the purpose of the above passage/study?

(1) Snow Leopards are vulnerable species and must be protected.

(2) Are dangerous and must be left to die

(3) Are aggressive

(4) Are rigid species
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Correct Answer: (1) Snow Leopards are vulnerable species and must be protected.
Solution:

Step 1: Identify the central theme of the passage.

The passage is focused on Snow Leopards, their habitat, and the Project Snow Leopard
launched by the Government of India. The project is designed to conserve high-altitude
ecosystems and wildlife, especially snow leopards.

Step 2: Note the conservation intent.

The project is introduced to “safeguard and conserve India’s unique natural heritage.” There
is no mention of snow leopards being dangerous or aggressive. On the contrary, they are
considered an “umbrella species,” meaning conserving them helps protect the broader
ecosystem.

Step 3: Eliminate incorrect options.

Option (2) ”Are dangerous and must be left to die” — Incorrect. The passage promotes
protection.

Option (3) ”Are aggressive” — Not mentioned.

Option (4) ”Are rigid species” — Irrelevant.

Option (1) fits correctly with the conservation theme.

Step 4: Final inference.

The correct purpose of the passage is to highlight that snow leopards are a vulnerable species

and need protection through national-level conservation efforts.

When answering comprehension questions, focus on the keywords related to purpose,

tone, or intent. Eliminate options that contradict the core message of the passage.

147. Comprehension:

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal. Project

Snow Leopard was introduced in India by the Project Snow Leopard Committee instituted by
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the Ministry of Environment and Forests, Government of India, in the year 2009 to safeguard
and conserve India’s unique natural heritage of high-altitude wildlife populations and their
habitats by promoting conservation through participatory policies and actions. Project Tiger
and Project Elephant are prevalent in India with the former introduced in 1973 garnering
worldwide attention. The Snow Leopard usually occurs at an altitude of > 2700 m above sea
level and is the apex predator in the Himalayan Region along with the Tibetan Wolf. The
project is not only to protect the Snow Leopard, but as with Project Tiger, it is considered an
umbrella species and with its protection comes the protection of other species and the habitat
which they are all a part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen: - Kibber Wildlife
Sanctuary — Himachal Pradesh - Ulley Valley — Ladakh - Hemis National Park —
Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows: (i) High altitudes of
India > 3000 m including the Himalayan & Trans-Himalayan biogeographic zones support a
unique wildlife assemblage of global conservation.

(i1) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(i11) The region represents a vast rangeland system supporting important traditional pastoral
economic and lifestyles.

(iv) The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-altitude
wildlife species such as the snow leopard.

(vi) The region is important for the country’s national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable strengthening.
(ix) Wildlife Management in the region needs to be made participatory.

Question: What do you mean by the phrase “Snow Leopard is considered an umbrella
species”?

(1) They mate under the umbrella.
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(2) Species whose protection will ensure protection of other species.

(3) They live under the umbrella.

(4) They sleep under the umbrella.

Correct Answer: (2) Species whose protection will ensure protection of other species.
Solution: Step 1: Understand the phrase in the context of the passage.

The passage states:

”The project is not only to protect the Snow Leopard, but as with Project Tiger, it is
considered an umbrella species and with its protection comes the protection of other species
and the habitat which they are all a part of.”

Step 2: Interpret the meaning of umbrella species’.

An umbrella species is one whose conservation indirectly protects many other species that
share its habitat. Protecting this key species and its large habitat means safeguarding the
ecological community as a whole.

Step 3: Eliminate incorrect options.

(1), (3), and (4) are clearly incorrect and based on literal misunderstanding.

(2) correctly reflects the ecological meaning of an umbrella species.

Quick Tip

In ecology, an umbrella species is one that helps protect many other species in its habitat
due to its large spatial requirements or ecological significance. Protecting such a species

ensures broader ecosystem conservation.

148. Comprehension:

India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests, Government of India, in the year 2009
to safeguard and conserve India’s unique natural heritage of high-altitude wildlife

populations and their habitats by promoting conservation through participatory policies and
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actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of > 2700 m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard, but as with Project Tiger, it is considered an umbrella species and
with its protection comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen: - Kibber
Wildlife Sanctuary — Himachal Pradesh

- Ulley Valley — Ladakh

- Hemis National Park — Himachal Pradesh

The reasons for the introduction of Project Snow Leopard are as follows:

(1) High altitudes of India > 3000 m including the Himalayan and Trans-Himalayan
biogeographic zones support a unique wildlife assemblage of global conservation
significance.

(i1) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(ii1) The region represents a vast rangeland system supporting important traditional pastoral
economies and lifestyles.

(iv) The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-altitude
wildlife species such as the snow leopard.

(vi) The region is important for the country’s national security as well as international
relations.

(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high-altitude protected areas in India require considerable strengthening.
(ix) Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question below:

According to the passage, high-altitude regions should be protected. Why?
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(1) As they are cold and beautiful

(2) As they are at a height

(3) As they support unique wildlife of global significance

(4) As it is a dynamic region

Correct Answer: (3) As they support unique wildlife of global significance
Solution:

Step 1: Understand the question’s focus.

The question asks why high-altitude regions need protection. We must locate information
from the passage that directly supports this.

Step 2: Locate relevant statements from the passage.

In the passage, point (1) of the reasons for Project Snow Leopard clearly states:

“High altitudes of India > 3000 m including the Himalayan and Trans-Himalayan
biogeographic zones support a unique wildlife assemblage of global conservation
significance.”

Step 3: Match options to the passage.

Option (1): “Cold and beautiful” — not mentioned in the passage.

Option (2): “At a height” — this is a fact but not the reason for protection.

Option (3): “Support unique wildlife of global significance” — this is directly supported by
point (1).

Option (4): “Dynamic region” — irrelevant to the given context.

Step 4: Final conclusion.

Only Option (3) accurately reflects the reason mentioned in the passage for protecting
high-altitude regions.

Quick Tip

29 29

Focus on keywords such as “’support unique wildlife”, ”conservation”, and “signifi-
cance” when interpreting comprehension questions. Eliminate options that sound vague

or are not backed by the text.

149. Comprehension:
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India is home to an estimated 10% of the global Snow Leopard population spread across five
Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and
Arunachal Pradesh which is only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests, Government of India, in the year 2009
to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention. The Snow Leopard usually occurs at an altitude of > 2700 m
above sea level and is the apex predator in the Himalayan Region along with the Tibetan
Wolf. The project is not only to protect the Snow Leopard, but as with Project Tiger, it is
considered an umbrella species and with its protection comes the protection of other species
and the habitat which they are all a part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen:

- Kibber Wildlife Sanctuary — Himachal Pradesh

- Ulley Valley — Ladakh

- Hemis National Park — Himachal Pradesh

The reasons for introduction of Project Snow Leopard are as follows: (i) High altitudes of
India > 3000 m including the Himalayan & Trans-Himalayan biogeographic zones support a
unique wildlife assemblage of global conservation.

(i1) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(ii1) The region represents a vast rangeland system supporting important traditional pastoral
economic and lifestyles.

(iv) The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-altitude
wildlife species such as the snow leopard.

(vi) The region is important for the country’s national security as well as international

relations.
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(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high altitude protected areas in India require considerable strengthening.
(ix) Wildlife Management in the region needs to be made participatory.

Question: According to the passage, what is integral to the nation’s food security?
(1) Wildlife

(2) Population

(3) Fresh air

(4) River systems

Correct Answer: (4) River systems

Solution: Step 1: Identify the relevant line in the passage.

The passage clearly states:

”The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.”

Step 2: Interpret the statement.

The phrase implies that river systems originating in the high-altitude Himalayan region play
a crucial role in supporting agriculture and food production in India, hence making them
integral to the nation’s food security.

Step 3: Eliminate incorrect options.

(1) Wildlife: Important, but not directly linked to food security in the passage.

(2) Population: Not relevant to food security here.

(3) Fresh air: Beneficial for health, not specifically tied to food security.

(4) River systems: Correct, as stated explicitly in the passage.

In comprehension-based questions, look for exact phrases or paraphrased ideas from

the passage. Keywords like ’food security” help locate the relevant sentence quickly.

150. Comprehension:
India is home to an estimated 10% of the global Snow Leopard population spread across five

Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and
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Arunachal Pradesh, which 1s only 5% of the available global habitat for the animal.

Project Snow Leopard was introduced in India by the Project Snow Leopard Committee
instituted by the Ministry of Environment and Forests, Government of India, in the year 2009
to safeguard and conserve India’s unique natural heritage of high-altitude wildlife
populations and their habitats by promoting conservation through participatory policies and
actions.

Project Tiger and Project Elephant are prevalent in India with the former introduced in 1973
garnering worldwide attention.

The Snow Leopard usually occurs at an altitude of > 2700 m above sea level and is the apex
predator in the Himalayan Region along with the Tibetan Wolf. The project is not only to
protect the Snow Leopard, but as with Project Tiger, it is considered an umbrella species and
with its protection comes the protection of other species and the habitat which they are all a
part of.

Top 3 National Parks in India where the Snow Leopard can likely be seen:

- Kibber Wildlife Sanctuary — Himachal Pradesh

- Ulley Valley — Ladakh

- Hemis National Park — Himachal Pradesh

The reasons for the introduction of Project Snow Leopard are as follows:

(1) High altitudes of India > 3000 m, including the Himalayan and Trans-Himalayan
biogeographic zones, support a unique wildlife assemblage of global conservation
significance.

(i1) There has been relatively less attention on the region from the viewpoint of wildlife
conservation.

(ii1) The region represents a vast rangeland system supporting important traditional pastoral
economies and lifestyles.

(iv) The region provides essential ecosystem services and harbours river systems vital for the
nation’s food security.

(v) India has ratified international agreements promoting the conservation of high-altitude
wildlife species such as the snow leopard.

(vi) The region is important for the country’s national security as well as international

relations.
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(vii) The high-altitude wildlife in India today faces a variety of threats.

(viii) The existing high-altitude protected areas in India require considerable strengthening.
(ix) Wildlife Management in the region needs to be made participatory.

Based on your understanding of the passage, answer the question below:

Which Himalayan States come under the Himalayan Region?

(1) J & K, Himachal, Uttarakhand, Sikkim, Arunachal

(2) Delhi

(3) Rajasthan

(4) Raipur

Correct Answer: (1) J & K, Himachal, Uttarakhand, Sikkim, Arunachal

Solution:

Step 1: Identify the relevant portion of the passage.

The very first sentence of the passage mentions the five Himalayan states that are home to

10% of the global Snow Leopard population:
“...five Himalayan states of Jammu and Kashmir, Himachal Pradesh, Uttarakhand, Sikkim and Arunach:

Step 2: Compare with the options.

Option (1): Lists all five states exactly as mentioned — Correct.

Option (2): Delhi — not in the Himalayan region — Incorrect.

Option (3): Rajasthan — desert region, not Himalayan — Incorrect.

Option (4): Raipur — in Chhattisgarh, central India, not part of the Himalayan states —
Incorrect.

Step 3: Final conclusion. Only Option (1) includes the correct list of Himalayan states

mentioned in the comprehension.

Always refer back to the passage directly for factual questions. Do not assume based

on general knowledge; stick strictly to the information given in the text.

151. Your friend shouts at you due to some misunderstanding. She thinks that you have

been creating problems in her personal life, you would:
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(1) Shout back to her

(2) Tell others that she is in a habit of doing it

(3) Leave her and not talk to her

(4) Make the first move to clear the misunderstanding

Correct Answer: (4) Make the first move to clear the misunderstanding

Solution:

Step 1: Evaluate emotional intelligence.

Reacting negatively (options 1, 2, or 3) can worsen the situation. Option (4) promotes
empathy, communication, and resolution.

Step 2: Best conflict resolution approach.

Misunderstandings are best addressed by calmly discussing the issue to clear confusion and

maintain the relationship.

Good relationships are built on communication and understanding. Being proactive in

resolving conflicts shows maturity and emotional intelligence.

152. While returning home, after watching a late night movie show you found two
people arguing loudly on the way, you will:

(1) Ignore them and go your way

(2) Ask them not to shout in the midnight

(3) Inform the Police

(4) Intervene between them, settle the argument amicably and proceed to your home
Correct Answer: (3) Inform the Police

Solution:

Step 1: Assess the situation for safety.

Intervening in a potentially volatile argument can be risky. Instead, ensuring law
enforcement handles the situation is safer and more responsible.

Step 2: Act within legal and safety boundaries.

Option (3) ensures safety for everyone while also upholding law and order.
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Always prioritize safety in uncertain public scenarios. It’s best to inform authorities

instead of directly involving yourself.

153. You have joined a company. People around you are quite friendly and helpful.
What would you do to start a conversation with them?

(1) Smile at everyone and say hello.

(2) Go right up to everyone who seems approachable and start talking positively.

(3) Take part in discussions that deal with work only.

(4) Behave very formally.

Correct Answer: (1) Smile at everyone and say hello.

Solution:

Step 1: Start with small, friendly gestures.

A simple smile and greeting (option 1) is an easy and approachable way to start a
conversation, especially in a new environment.

Step 2: Break the ice.

Starting with a smile and "hello” fosters a positive and welcoming atmosphere without

overstepping boundaries.

A friendly smile and simple greetings help create an open environment and build rapport

with new colleagues.

154. Your best friend has invited you for a lunch but the same day you came to know
about the interviews in the ‘“Job Placement Cell” of your college.

(1) Enjoy with your friend and you will attend such interviews next time.

(2) Ring up your friend and explain the whole situation.

(3) You miss the interviews and leave for lunch.

(4) You keep grumbling and you are confused.
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Correct Answer: (2) Ring up your friend and explain the whole situation.

Solution:

Step 1: Prioritize opportunities wisely.

Job interviews are crucial for future prospects and should be prioritized.

Step 2: Communicate honestly.

Informing the friend shows respect and helps in maintaining a good relationship while not

missing a professional opportunity.

Balancing personal and professional commitments requires honest communication and

proper prioritization.

155. While travelling in your car, certain persons stop you on the way and ask you to
take an injured child to the hospital. You would:

(1) Ask them to leave your way and then drive away.

(2) Ask them to first call the police.

(3) Immediately take the child to the hospital.

(4) Get out of the car and ask some other person for help and will request him for taking the
child to hospital.

Correct Answer: (3) Immediately take the child to the hospital.

Solution:

Step 1: Assess urgency.

The child needs immediate medical attention. Delays can be life-threatening.

Step 2: Take responsible and humane action.

Option (3) is the most compassionate and responsible action in a critical situation.

In emergencies, timely action saves lives. Compassion and responsibility should guide

your decisions.
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156. When somebody asks your views regarding an issue:

(1) You fail to give a realistic and precise answer.

(2) Your views are dependent on other’s views.

(3) You diplomatically answer in a very realistic and straightforward manner.

(4) Say anything that comes to your mind.

Correct Answer: (3) You diplomatically answer in a very realistic and straightforward
manner.

Solution: When asked about your views on an issue, it is important to be clear and direct.
However, it’s also crucial to maintain diplomacy, as some topics may require a careful
balance between honesty and tact. The key is to communicate effectively without offending
others. Here’s a breakdown:

Step 1: Understand the issue.

To respond effectively, you need a clear understanding of the topic at hand.

Step 2: State your views clearly.

A straightforward response allows you to express your opinion without confusion.

Step 3: Maintain diplomacy.

If the topic is sensitive, being diplomatic means presenting your views in a way that respects
differing opinions while still being honest.

Step 4: Focus on clarity and respect.

A balanced response will convey your thoughts effectively and encourage meaningful

dialogue.

In discussions, try to maintain clarity and honesty while being respectful of others’

views. Diplomacy helps in managing sensitive conversations.

157. You are a member of a leading music group. During the performance, a judge asks
you to step forward and sing alone as you are the main singer of the group:
(1) You get distracted as the rest of the group is not with you.

(2) You concentrate on your singing to perform your level best.
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(3) You form the opinion that you are going to be thrown out of the group.

(4) You keep thinking why you were asked to sing alone and remain confused throughout.
Correct Answer: (2) You concentrate on your singing to perform your level best.
Solution: In this scenario, the best approach is to stay focused on the task at hand. Here are
the steps:

Step 1: Acknowledge the situation.

You’re asked to sing alone, which may feel intimidating, but it’s an opportunity to showcase
your skills.

Step 2: Stay composed and focused.

Instead of getting distracted or anxious, take a deep breath and prepare yourself mentally to
deliver a great performance.

Step 3: Concentrate on your performance.

Focus solely on your singing. The judge has asked you to sing alone because of your talent,
and it’s important to give your best.

Step 4: Avoid unnecessary thoughts.

Don’t let negative or distracting thoughts interfere with your performance. Stay confident

and give your best.

When facing a solo performance, stay focused and embrace the opportunity to showcase

your talents without distractions or unnecessary worries.

158. Whenever Aman is free, he likes to do painting. What type of Aptitude does Aman
have?

(1) Ability

(2) Interest

(3) Weakness

(4) None of the above

Correct Answer: (2) Interest

Solution: Aman engages in painting during his free time, indicating that he has an interest in
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the activity. Let’s break this down:

Step 1: Understand the distinction.

Interest refers to activities you enjoy doing, which gives you motivation to engage in them
during your free time.

Step 2: Identify the context.

Aman’s regular engagement in painting when free shows that it is not just a skill but
something he enjoys doing.

Step 3: Recognize that aptitude is closely linked to interest.

While ability is important, in this case, Aman’s choice of activity indicates a deeper interest,
not necessarily a developed skill or weakness.

Step 4: Conclude that interest drives behavior.

Aman’s behavior suggests that his interest in painting is what motivates him to engage in this

activity consistently.

Interest is the key to understanding why people engage in specific activities during their

free time. It’s often a strong motivator for personal development.

159. An Epidemic spread in your village due to poor hygiene conditions. You will:

(1) Try to educate people about hygiene.

(2) Ignore as it is the job of Government.

(3) Intervene only if your family member gets affected.

(4) Shift to the other village.

Correct Answer: (1) Try to educate people about hygiene.

Solution: In the face of an epidemic, it’s crucial to take responsibility for the community’s
well-being. The steps are:

Step 1: Recognize the issue.

The epidemic is spreading due to poor hygiene, which can be prevented by promoting good
hygiene practices.

Step 2: Take initiative.
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Instead of ignoring the problem or waiting for others to act, take the initiative to educate
people in your village about the importance of hygiene.

Step 3: Offer solutions.

You can share practical tips such as handwashing, clean water, and sanitation measures to
help reduce the spread of the epidemic.

Step 4: Encourage collective action.

By educating the community, you empower them to take action and prevent the further

spread of the epidemic.

In times of crisis, education and awareness can have a significant impact on mitigating

the spread of diseases and improving public health outcomes.

160. You went out of India for higher studies. Due to financial conditions, your parents
are unable to send you money. You will:

(1) Leave your studies and come back to India.

(2) Do a part-time job and complete your studies.

(3) Leave the studies and do a full-time job.

(4) Build pressure on your parents to send you money.

Correct Answer: (2) Do a part-time job and complete your studies.

Solution: In a situation where financial constraints are preventing you from continuing your
studies, a practical approach is to balance work and education. Here are the steps:

Step 1: Assess your options.

You have the option to either abandon your studies or find a way to support yourself
financially while continuing with your education.

Step 2: Choose the balanced approach.

Taking up a part-time job allows you to continue your studies while earning money to cover
expenses.

Step 3: Manage your time effectively.

While working part-time, ensure that your job does not interfere with your studies. Time
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management is key.
Step 4: Stay focused on your long-term goal.
Completing your studies while managing financial challenges will be rewarding and help

you achieve your future goals.

Balancing part-time work with studies is a practical solution when facing financial dif-

ficulties. Time management and focus are essential for success.

161. While talking to your friend on the phone, you realize someone from the back is
playing your favourite song. Then in this situation:

(1) Tell your friend that you are listening to the song.

(2) You are able to understand what your friend is saying and keep listening to the song
along with the conversation.

(3) Try to do both things together but cannot do either.

(4) Forget about the song and concentrate on your friend’s voice.

Correct Answer: (4) Forget about the song and concentrate on your friend’s voice.
Solution:

Step 1: Prioritize the conversation.

In a conversation with a friend, it’s generally more important to focus on understanding what
your friend is saying.

Step 2: Distraction management.

Though the song might be tempting, it is polite and respectful to concentrate on the

conversation at hand.

When talking on the phone, focus on the conversation and avoid distractions like back-

ground music to ensure clear communication.

162. You are going to school on a bike and all of a sudden the bike breaks down. You
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ring up to your father and he says that he will be there in half an hour. You cannot do
anything except waiting for him. You

(1) Continue to sit patiently and keep waiting for your father.

(2) Feel a bit scared.

(3) Experience extreme panic as the waiting period increases.

(4) Decide to go to any house nearby as it is getting more scary.

Correct Answer: (1) Continue to sit patiently and keep waiting for your father.

Solution:

Step 1: Stay calm.

In situations where you have no control over the circumstances, staying calm and patient is
the best approach.

Step 2: Trust the situation.

Knowing that your father is on the way provides reassurance and helps you remain patient.

Patience is key when you have no control over a situation. Use the waiting time wisely,

such as by reading or relaxing.

163. You are alone at home when one of your nieces gets badly hurt.

(1) You start feeling panicky.

(2) You ask for your neighbour’s help.

(3) You call up your parents and ask them to come fast.

(4) You call the family doctor immediately and go and sit beside her to keep watch in the
meantime.

Correct Answer: (4) You call the family doctor immediately and go and sit beside her to
keep watch in the meantime.

Solution:

Step 1: Act calmly in an emergency.

In emergencies, it’s important to stay composed and take the necessary actions quickly.

Step 2: Take immediate action.
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Calling the doctor is essential for professional help, and staying with your niece provides

emotional support until help arrives.

Stay calm and act promptly in emergencies. Contact the relevant professional (doctor,

police) and offer support while waiting.

164. Your maid has invited you to her daughter’s wedding. You would
(1) Completely ignore her.

(2) Attend the wedding.

(3) Buy a gift for her daughter and help in the wedding.

(4) Congratulate her and make up some excuse for not being able to attend.
Correct Answer: (3) Buy a gift for her daughter and help in the wedding.
Solution:

Step 1: Be respectful and kind.

Attending a close friend or employee’s wedding shows kindness and respect for their
important event.

Step 2: Go the extra mile.

Buying a gift and offering to help shows a caring attitude and strengthens relationships.

Engage positively with people around you by attending special events like weddings

and offering your support.

165. You were discussing some important issue with one of your colleagues and you end
up having a fight. You would:

(1) Ignore the whole situation and start chatting with others.

(2) Blame her and move ahead.

(3) Sit with her, and try to clarify things to sort out the matter.

(4) Promise to yourself that you will never talk to her in future.
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Correct Answer: (3) Sit with her, and try to clarify things to sort out the matter.
Solution:

Step 1: Address the issue.

It is important to resolve conflicts through open discussion and understanding, rather than
letting them fester.

Step 2: Build resolution.

Sitting down with the colleague to clarify the issue will help repair the relationship and

create a more positive work environment.

Resolve conflicts through constructive conversations. Address misunderstandings and

aim for a collaborative solution.

166. If you have to prepare for your exam and at the same time prepare your project
report, you will:

(1) Do one thing at a time and plan out a time table and work accordingly.

(2) Become anxious and impulsively do the tasks just for the sake of getting over with them.
(3) Try to do all the tasks at the same time.

(4) Keep crying without being able to work effectively at any task.

Correct Answer: (1) Do one thing at a time and plan out a time table and work accordingly.
Solution: In this scenario, time management is key. Here’s how to approach the task
effectively:

Step 1: Prioritize the tasks.

Both preparing for exams and preparing a project report require focused attention, but proper
planning ensures you can manage both efficiently.

Step 2: Create a time table.

A structured time table will help you allocate sufficient time to both tasks without feeling
overwhelmed.

Step 3: Stick to the plan.

By doing one thing at a time, you ensure that you can focus better, complete each task

properly, and avoid unnecessary stress.
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Step 4: Stay organized.
Efficiently managing your time through planning will reduce anxiety and increase

productivity.

Time management and planning ahead can significantly reduce stress when managing

multiple tasks. Break down larger tasks into smaller, more manageable parts.

167. You have been asked to complete your work, but others plan to leave the work and
enjoy themselves at the Carnival:

(1) You also start thinking the same way.

(2) You do your work as there is no fun in taking chances for such an important work.

(3) Ask your friends as well to do the work.

(4) Leave your friends thinking they have a non-serious attitude towards work.

Correct Answer: (2) You do your work as there is no fun in taking chances for such an
important work.

Solution: When faced with a situation where others are procrastinating, it’s important to stay
focused on your goals. Here’s the approach:

Step 1: Recognize the importance of your work.

Your work is crucial, and taking shortcuts or leaving it incomplete can have long-term
consequences.

Step 2: Stay committed to your task.

While it’s tempting to join your friends in leisure activities, it’s important to focus on the task
at hand.

Step 3: Maintain a strong work ethic.

By completing your work diligently, you ensure that your efforts are well-spent, avoiding
unnecessary stress or consequences later on.

Step 4: Prioritize your commitments.

After completing your work, you can reward yourself with leisure time without the guilt of

leaving responsibilities unfinished.
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Staying focused on your priorities will not only ensure that you complete your work

effectively but will also give you peace of mind during leisure time.

168. You are in a cinema hall watching a movie, you see a snake in front of your leg, you
will:

(1) Remain cool, warn others, notify the hall authorities.

(2) Start shouting that no one should move.

(3) Shout to switch on the lights.

(4) Take the snake and place it outside.

Correct Answer: (1) Remain cool, warn others, notify the hall authorities.

Solution: In such an emergency situation, staying calm and acting responsibly is important.
Here’s the approach:

Step 1: Stay calm.

Panic can make the situation worse. It is important to stay composed in order to think clearly
and act responsibly.

Step 2: Warn others.

Notify the people around you to avoid panic and make sure everyone is safe. Ensuring that
others are aware will help prevent accidents.

Step 3: Notify the authorities.

Contact the cinema hall staff immediately, as they are equipped to handle such situations and
can take swift action to ensure everyone’s safety.

Step 4: Follow the guidance.

Listen to the authorities and follow any safety instructions they provide. Your safety and the

safety of others are the top priority.

In emergencies, it is important to stay calm, communicate clearly, and seek help from

the proper authorities. Panicking may worsen the situation.
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169. You are very tired and have to do some important work. You:

(1) Keep thinking that you are tired and won’t be able to work.

(2) Do the work wholeheartedly.

(3) Would do it without thinking that you can make errors.

(4) Finish it off.

Correct Answer: (2) Do the work wholeheartedly.

Solution: When you’re tired but need to complete an important task, it’s important to
manage your energy and mindset effectively. Here’s the approach:

Step 1: Acknowledge your fatigue.

Recognizing that you’re tired is the first step, but it’s important not to let this hinder your
performance.

Step 2: Push through with determination.

Instead of dwelling on tiredness, focus on the task at hand. Committing wholeheartedly to
the work helps maintain focus and motivation.

Step 3: Manage energy levels.

Taking short breaks and staying hydrated can help you stay energized while working on the
task.

Step 4: Avoid procrastination.

Finish the task rather than allowing yourself to get distracted by fatigue or external thoughts.

This will ensure that you meet deadlines without unnecessary stress.

Even when tired, focusing on the task and working wholeheartedly will help you achieve

the desired outcome. Managing small breaks can help boost productivity.

170. Your teacher tells you in advance that a certain project needs to be completed
within two weeks’ time. You would:
(1) Do the work patiently and complete it within the given time.

(2) Leave the work for a while thinking that it will be done later.
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(3) Feel panicky and start devoting all your time to it.

(4) Ignore the work thinking that it’s just a day’s job.

Correct Answer: (1) Do the work patiently and complete it within the given time.
Solution: The key to handling projects with deadlines is a proactive and disciplined
approach. Here’s how to tackle it:

Step 1: Plan ahead.

With two weeks to complete the project, it’s important to break down the tasks and set clear
goals for each day.

Step 2: Prioritize your tasks.

Organize the work based on urgency and importance, and avoid procrastination to ensure
steady progress.

Step 3: Stay focused and avoid panic.

Don’t let the timeline stress you. Stay calm, work systematically, and make steady progress.
Step 4: Review and finalize.

With the deadline in mind, finish the work well before the due date to give time for review

and revisions if needed.

Breaking down large tasks into smaller, manageable steps and starting early will help

you avoid last-minute stress and ensure timely completion of the project.

171. You work in a Call center and a customer is angry and yelling at you on the
phone. What is the best course of action?

(1) Yell back at the customer.

(2) Apologize and try to calm down the customer.

(3) Argue with the customer.

(4) Ignore the customer’s complaint.

Correct Answer: (2) Apologize and try to calm down the customer.

Solution: Step 1: Remain calm and listen actively.

When dealing with an angry customer, it’s important to stay calm and listen to their
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concerns. Reacting with anger or defensiveness only escalates the situation.

Step 2: Apologize for the inconvenience.

Even if the issue is not your fault, apologize for the inconvenience caused. An apology can
help to defuse tension and make the customer feel heard.

Step 3: Offer a solution.

Once the customer’s complaint has been heard, reassure them that you will help resolve the
issue or direct them to someone who can. Offering a tangible solution can calm the situation
down.

Step 4: Stay professional.

Throughout the conversation, maintain professionalism and empathy. This ensures that the

customer feels respected and that you are taking their issue seriously.

Always remain calm when dealing with an upset customer. Apologizing and offering a

solution can often de-escalate the situation quickly.

172. You work in a hotel and some guests complain about the noise level in their room.
What is the best course of action?

(1) Offer them earplugs.

(2) Ignore their complaint.

(3) Apologize and move them to a different room.

(4) Tell them there’s nothing you can do.

Correct Answer: (3) Apologize and move them to a different room.

Solution: Step 1: Acknowledge the complaint.

Apologize for the inconvenience caused and acknowledge the guest’s discomfort.

Step 2: Offer a solution.

Move the guest to a quieter room if possible. It’s essential to ensure that they have a pleasant
stay and address their concerns quickly.

Step 3: Remain professional and accommodating.

Show that you care about their experience and are willing to make the necessary adjustments
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to resolve the issue.

Responding quickly and offering an alternative room can show your commitment to

excellent service.

173. You are staying in a hostel, every day in the night seniors come to your room and
disturb you, the first person whom you will inform would be:

(1) Local Police Station.

(2) Principal of the college.

(3) Hostel Warden.

(4) Help Line Number.

Correct Answer: (3) Hostel Warden.

Solution: Step 1: Identify the person in charge.

The hostel warden is the person responsible for maintaining discipline in the hostel. It’s
important to report disturbances to the appropriate authority.

Step 2: Provide details.

Clearly explain the issue to the hostel warden, including how often it happens and how it is
affecting you.

Step 3: Follow-up if necessary.

If the problem persists, follow up with the warden or escalate the matter to higher authorities

like the principal if needed.

When dealing with disturbances in a hostel, always report to the hostel warden first as

they are responsible for resolving such issues.

174. While dining at a reputed Restaurant you ordered vegetarian soup but you have
been served with non-vegetarian soup. You will:

(1) Call the server and shout at him/her.
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(2) Forget the incident and do nothing about it.

(3) Leave the restaurant immediately.

(4) Call the manager and complain to him/her.

Correct Answer: (4) Call the manager and complain to him/her.

Step 1: Stay calm.

If you are served the wrong dish, remain calm and approach the situation politely.

Step 2: Inform the manager.

Politely inform the manager about the mistake and explain that you had ordered a vegetarian
soup, not a non-vegetarian one.

Step 3: Allow them to resolve the issue.

Give the restaurant a chance to rectify the mistake by either offering you the correct soup or

compensating you in some way.

Always approach the situation politely. Most restaurants will be more than willing to

correct mistakes when brought to their attention calmly.

175. A Food Festival is to be organized at your college by a group of students. You:
(1) Volunteer for the group.

(2) Plan how to stop the Food Festival.

(3) Not be bothered about it.

(4) Try to make another group and challenge the same.

Correct Answer: (1) Volunteer for the group.

Step 1: Show initiative.

Volunteering for the group is a great way to be part of an event and contribute to your college
community.

Step 2: Be proactive.

You can help with organizing, setting up, or managing the event. This will give you an
opportunity to learn new skills and meet new people.

Step 3: Support the event.
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Supporting the food festival will help ensure its success and demonstrate your team spirit.

Volunteering for events like food festivals can help you develop valuable teamwork and

organizational skills.

176. You are a telephone operator in a hotel, there is no call in waiting. You will:

(1) Go and help in other department

(2) Quit your seat and relax in the locker room

(3) Be attentive on your given job only

(4) Listen to music through a pair of earphones

Correct Answer: (3) Be attentive on your given job only.

Solution: In the absence of calls, maintaining attentiveness ensures you're ready for the next
task without being distracted.

Step 1: Focus on being diligent.

Being attentive to your job even when it appears quiet shows commitment to the role and
ensures you’re prepared if something comes up.

Step 2: Stay productive.

If there’s nothing to do, consider doing small tasks that help you stay on top of your
responsibilities.

Step 3: Avoid distractions.

Listening to music or leaving the job could create a sense of negligence, which could affect

your work when calls start coming in.

Even during downtime, staying focused and ready ensures that you’re always prepared

when your responsibilities return.

177. You have been sent to a monument for a cleanliness project, as a group leader,
your job is:

(1) Only to supervise
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(2) Work with Team

(3) Go away after giving tasks

(4) Ask them to work only for photos

Correct Answer: (2) Work with Team.

Solution: Being a group leader doesn’t only involve supervision but also setting an example
and working alongside your team.

Step 1: Lead by example.

As a leader, it’s important to show that you’re willing to get your hands dirty and help with
the task at hand.

Step 2: Collaborate with the team.

Working together not only boosts morale but also ensures the project is completed efficiently.
Step 3: Stay engaged.

Instead of walking away after giving tasks or focusing solely on appearances, work with your

team to foster teamwork and accomplish the goal.

Leading by example creates unity and motivates your team to work harder and be more

committed.

178. Light bulbs of the Park in your locality are not working, you will:

(1) Pool money and get it repaired

(2) Inform the Local Authorities

(3) Ignore the situation

(4) Ask people not to go to the Park

Correct Answer: (2) Inform the Local Authorities.

Solution: When faced with an issue that affects public amenities, the right course of action is
to inform the relevant authorities.

Step 1: Identify the responsibility.

As a concerned citizen, informing the local authorities is the most efficient way to address
the issue since they have the resources to fix it.

Step 2: Take responsible action.
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Pooling money may be a temporary fix, but it’s not a sustainable solution. Proper authorities
need to be notified for long-term improvement.

Step 3: Avoid ignoring the problem.

Ignoring or asking people to avoid the park does not address the root cause of the issue and

may not help in the long run.

When public amenities are malfunctioning, reaching out to local authorities is the most

effective and responsible course of action.

179. Your team has failed to achieve the given targets; As the captain of the team:
(1) Take all the blame on yourself for the defeat.

(2) Blame your team for the same.

(3) Try to find out the reasons for not achieving the targets.

(4) Resign from the organization.

Correct Answer: (3) Try to find out the reasons for not achieving the targets.

Solution: As a captain, it’s important to analyze the situation and find out what went wrong
to improve in the future.

Step 1: Analyze the situation.

Instead of placing blame, assess the reasons why the targets were not met. Look at factors
like communication, resources, or strategy.

Step 2: Learn from failure.

Understand what went wrong so that similar issues can be avoided in future tasks.

Step 3: Take corrective action.

Once the reasons are identified, work with your team to make necessary adjustments for

success in the next target.

Failure is an opportunity to learn. Identifying the causes behind setbacks helps you and

your team grow and improve in the future.
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180. A fight takes place between two employees at the hotel. As a Manager, what will
you do?

(1) Try to convince both to stop fighting and find a solution to the problem.

(2) Handover the situation to your Junior.

(3) Call Police and handover both employees to the police.

(4) You also involve yourself in fighting.

Correct Answer: (1) Try to convince both to stop fighting and find a solution to the problem.
Solution: As a manager, your role is to mediate conflicts and resolve issues constructively.
Step 1: Address the situation calmly.

Don’t escalate the issue. Remain composed and step in to resolve the conflict without adding
fuel to the fire.

Step 2: Facilitate communication.

Encourage both employees to express their concerns and grievances, and mediate to find a
peaceful resolution.

Step 3: Focus on resolution.

Guide the conversation towards a solution that satisfies both parties and prevents future

conflicts.

As a manager, always aim to mediate conflicts and find solutions that foster cooperation,

rather than allowing conflicts to escalate.

181. While working in a group, you will:

(1) Never participate in the activity.

(2) Share your ideas with others.

(3) Based on listening to others, you agree with them.
(4) Dominate with your ideas over the others.
Correct Answer: (2) Share your ideas with others.

Solution: Step 1: Active Participation.
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In a group, it is essential to share your thoughts, as this fosters collaboration and generates
diverse ideas.

Step 2: Open-mindedness.

Sharing ideas allows you to contribute, but also be receptive to others’ suggestions. Balance
your input with listening skills.

Step 3: Effective Communication.

When you share your ideas clearly and respectfully, it helps improve group dynamics and
leads to better problem-solving.

Step 4: Teamwork.

Working together and sharing ideas will lead to better outcomes, as it combines the strengths

of each individual in the group.

In group work, active participation and collaboration are key. Don’t hesitate to share

your ideas and listen to others.

182. You have been given the responsibility of Class Monitor, you would:

(1) Request your teacher not to give this responsibility.

(2) Request your friend to take this responsibility.

(3) Gracefully take this responsibility as a new learning.

(4) Ask your parents to talk to Principal for not giving this responsibility.

Correct Answer: (3) Gracefully take this responsibility as a new learning.

Solution: Step 1: Embrace responsibility.

Taking on a leadership role like being a class monitor is a great opportunity for personal
growth and development.

Step 2: Learn and adapt.

View this responsibility as a chance to learn new skills such as organization, leadership, and
communication.

Step 3: Execute effectively.

Use your position to help your peers, create a positive classroom environment, and contribute
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to the overall management.
Step 4: Gain experience.
This role will provide you with practical experience that can be useful in many future

endeavors, both academic and professional.

Accepting leadership roles can help build your confidence, improve your skills, and

teach valuable life lessons.

183. What do you do when you reach a meeting without preparation?

(1) Make excuses to convince other members.

(2) Admit your reason for being unprepared.

(3) Try to escape from the meeting.

(4) Do not attend the meeting at all.

Correct Answer: (2) Admit your reason for being unprepared.

Solution: Step 1: Be honest.

If you find yourself unprepared, honesty is the best approach. Admitting your
unpreparedness shows integrity and responsibility.

Step 2: Take responsibility.

Don’t make excuses. Instead, explain the reason for your unpreparedness and commit to
being better prepared next time.

Step 3: Seek a solution.

Ask for an opportunity to catch up or offer to contribute in another way during the meeting.
This shows initiative and willingness to improve.

Step 4: Prepare better next time.

Learn from this experience to ensure you are better prepared in future meetings.

Honesty and accountability are essential when unprepared. Owning your mistakes and

learning from them will help you improve in the future.
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184. In a classroom, you find a topic which is very tough. The best thing you can do is:
(1) Leave the class.

(2) Ask your friend to teach you after the class.

(3) In the class itself, ask your teacher to repeat the topic.

(4) Nothing can be done about it.

Correct Answer: (3) In the class itself, ask your teacher to repeat the topic.

Solution: Step 1: Don’t shy away from asking questions.

If you are finding a topic difficult, don’t hesitate to ask your teacher to explain it again during
the class.

Step 2: Take notes.

While the teacher repeats the topic, make sure to take detailed notes to help you understand
the concept better.

Step 3: Seek clarification.

If you still have questions, ask follow-up questions to ensure you fully understand the topic.
Step 4: Review later.

After class, go over the topic again on your own or with a friend to reinforce your

understanding.

Never hesitate to ask questions during class. It’s important to clarify doubts immediately

to ensure you fully grasp the subject matter.

185. You are transferred to a department which is not of your interest, you will:
(1) Make mistakes so that you are transferred back to your interested department.
(2) Give a time limit to the management for transferring back.

(3) Resign from the company.

(4) Work hard and try to prove yourself in the new department.

Correct Answer: (4) Work hard and try to prove yourself in the new department.

Solution: Step 1: Stay professional.
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Even if the department isn’t your preferred one, remain professional and do your best to
contribute to the team.

Step 2: Learn new skills.

A new department presents an opportunity to learn and develop new skills that may prove
valuable in your career.

Step 3: Adapt to the role.

Give the department a chance and show your willingness to adapt and grow. This could lead
to new opportunities.

Step 4: Evaluate your options.

If you truly feel that the department doesn’t align with your career goals, discuss it with

management and explore possible alternatives.

Embrace change and adapt to new situations. Even if it’s not your ideal department,

working hard and proving yourself can lead to new opportunities.

186. You find a person entering your restaurant in a wheelchair, you will:

(1) Rush to open the door.

(2) Not bother about the same.

(3) Be agitated due to shortage of space in the restaurant.

(4) Ask the person that their food will be served in the room.

Correct Answer: (1) Rush to open the door.

Solution: Step 1: Be attentive.

When you see someone with special needs, especially in a wheelchair, it is important to be
aware and proactive in offering assistance.

Step 2: Ensure comfort.

By rushing to open the door, you provide a welcoming and accommodating environment,
showing that you care about the comfort of all guests.

Step 3: Respect and kindness.

Opening the door and making space ensures the person feels valued and respected, regardless
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of their mobility.
Step 4: Continue to be supportive.
Providing help and being considerate is key to making sure all customers have a positive

experience.

Small acts of kindness, like helping someone with a wheelchair, create a positive envi-

ronment and build customer loyalty.

187. As a manager, you notice there has been repeated customer complaints against the
smell of the carpet in a particular room, you will:

(1) Permanently block the room.

(2) Ignore the complaint.

(3) Remove the carpet from the room.

(4) Replace the carpet with a new one.

Correct Answer: (4) Replace the carpet with a new one.

Solution: Step 1: Assess the issue.

Customer complaints about odors should not be ignored, as they reflect on the overall
customer experience and reputation.

Step 2: Identify the cause.

Rather than blocking the room or removing the carpet, it’s important to solve the underlying
problem. The odor could be due to various factors, including age, cleanliness, or material.
Step 3: Act promptly.

Replacing the carpet ensures that the room is in top condition, providing guests with a fresh
and clean experience.

Step 4: Prevent future issues.

After replacing the carpet, ensure regular maintenance and cleaning to avoid similar

complaints in the future.
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Promptly addressing guest complaints not only improves satisfaction but also helps

maintain a high standard of service.

188. Discipline, hard work, and dedication are the essential requirements to be a
successful hotel operator. Upon getting this information, you would:

(1) Vow never to become a hotel operator.

(2) Ignore as you are not interested in hotel jobs.

(3) Take this as a challenge to be a successful hotel operator.

(4) Start wondering about the work pressure.

Correct Answer: (3) Take this as a challenge to be a successful hotel operator.

Solution: Step 1: Embrace challenges.

Hard work and dedication are key traits for success in any field. View the information as an
opportunity to challenge yourself.

Step 2: Develop discipline.

A successful hotel operator requires strong discipline in managing staff, operations, and
customer satisfaction.

Step 3: Be proactive.

Take on the challenge with enthusiasm, continuously seeking ways to improve your skills
and contribute to the hotel’s success.

Step 4: Continuous improvement.

By taking the challenge seriously, you can build a rewarding career by learning, adapting,

and excelling in your role.

Success in the hospitality industry requires a combination of hard work, dedication, and

a proactive attitude to overcome challenges and achieve excellence.

189. As a teacher, you have been asked to select a team for Annual Day Celebration.
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You would select students:

(1) Only those who are close to you.

(2) Only those who would do whatever you ask.

(3) Only those who are ready to adapt to any situation they may come across.

(4) Those who are close to you, those who would do anything when asked, and those who are
ready to adapt to any situation they may come across.

Correct Answer: (3) Only those who are ready to adapt to any situation they may come
across.

Solution: Step 1: Assess adaptability.

When forming a team for events like the Annual Day, it is crucial to select individuals who
can adapt to new challenges and unforeseen circumstances.

Step 2: Consider attitude.

Students who are flexible and ready to face difficulties without hesitation are valuable assets
to any team.

Step 3: Focus on collaboration.

While being close to students may help foster trust, selecting team members based on
adaptability and a willingness to work in a dynamic environment is the best approach.

Step 4: Set clear expectations.

Clarify the goals and expectations with the selected students, ensuring that they are aligned

with the event’s success.

Adaptability is key when working in teams. Ensure that your team members are flexible

and open to changes to ensure smooth collaboration.

190. You are working in a hotel, a fire breaks out. You would:

(1) Come back home and relax.

(2) Go to a safe distance and watch.

(3) Secure the children and the aged people first before you try to help others.

(4) Panic and run away.
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Correct Answer: (3) Secure the children and the aged people first before you try to help
others.

Solution: Step 1: Remain calm.

In an emergency situation like a fire, staying calm and focused is crucial for making the right
decisions.

Step 2: Prioritize safety.

The first priority should be to secure those who are most vulnerable, like children and the
elderly. Ensure they are safe and out of harm’s way.

Step 3: Evacuate if necessary.

After securing vulnerable individuals, assist others in evacuating the building in an orderly
fashion. Ensure everyone is accounted for.

Step 4: Follow protocol.

Ensure that the proper emergency procedures are followed to deal with the fire and prevent

further damage or harm.

In case of a fire or any emergency, staying calm and acting with a clear sense of priority

will help you handle the situation effectively and safely.

191. You were going through a guest bill which was prepared and checked by your
staff. You noticed a mistake. You would:

(1) Take him to the General Manager of the hotel.

(2) Go and speak to the concerned staff yourself without creating a fuss.

(3) Transfer the concerned staff.

(4) Permanently remove the concerned staff.

Correct Answer: (2) Go and speak to the concerned staff yourself without creating a fuss.
Solution: In such a situation, it is important to address the issue directly and constructively
with the concerned staff.

Step 1: Communicate calmly.

Approaching the staff without creating a fuss helps maintain a professional atmosphere and
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avoids unnecessary tension.

Step 2: Provide guidance.

By speaking with the concerned staff, you can clarify the mistake and ensure that they learn
from it, rather than resorting to punishment.

Step 3: Focus on improvement.

Mistakes are learning opportunities. Focusing on resolving the error rather than overreacting

helps foster a positive work environment.

Address mistakes professionally and offer constructive feedback, which encourages

growth rather than instilling fear.

192. You have received a demanding customer in your hotel, you will:

(1) Inform him that he should not behave like this.

(2) Shout back and tell that you are not in a position to help.

(3) Tactfully tell that his behavior is not appropriate.

(4) Make efforts to resolve the issue.

Correct Answer: (4) Make efforts to resolve the issue.

Solution: Dealing with demanding customers requires patience, understanding, and the
willingness to resolve their issues.

Step 1: Stay calm and composed.

Do not escalate the situation by shouting or responding negatively. Keep your tone polite and
professional.

Step 2: Actively listen to the customer.

Understanding the root of their dissatisfaction will allow you to provide the best possible
solution.

Step 3: Take proactive steps.

Rather than confronting them about their behavior, focus on finding a solution that will

satisfy the customer and maintain a positive relationship.
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Customer complaints are opportunities to improve services and create loyalty. Always

aim to resolve issues promptly and professionally.

193. After receiving negative feedback about your hotel, as a Manager, you would:

(1) Shout on the staff.

(2) Fight with the guest who has given negative comments.

(3) Ignore the negative comments.

(4) Take them in a positive manner and improve the standards of services.

Correct Answer: (4) Take them in a positive manner and improve the standards of services.
Solution: Negative feedback should be seen as an opportunity for growth and improvement,
rather than something to ignore or respond angrily to.

Step 1: Acknowledge the feedback.

Rather than ignoring the feedback, view it as constructive criticism that can help improve the
service standards.

Step 2: Investigate and improve.

Work with your team to understand the root cause of the issues and implement changes that
address those concerns.

Step 3: Take corrective actions.

Taking positive actions in response to negative feedback shows commitment to improvement

and customer satisfaction.

Use negative feedback as a catalyst for improvement and focus on finding solutions

rather than assigning blame.

194. In a College Mess, you are not getting food of your choice, you would:
(1) Stop eating from the Mess.

(2) Ask Management to return back the money against the Mess Fee.
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(3) Speak with the Mess Incharge to add items on rotation basis of your choices.

(4) Tell everyone to stop using the Mess Facility.

Correct Answer: (3) Speak with the Mess Incharge to add items on rotation basis of your
choices.

Solution: Rather than acting impulsively, the best course of action is to communicate the
issue respectfully and seek a resolution.

Step 1: Approach the Mess Incharge.

It’s important to discuss the issue calmly with the person in charge to see if your preferences
can be accommodated.

Step 2: Suggest a reasonable solution.

Propose adding food items on a rotation basis, which can offer variety without being too
burdensome for the management.

Step 3: Remain respectful.

Avoid actions like boycotting or demanding refunds, which may create unnecessary tension

or disrupt the service for others.

Clear and respectful communication can lead to mutually beneficial solutions without

escalating conflicts.

195. A drunken guest is creating a problem in the lobby of the hotel, as a Manager, you
will:

(1) Handover him to the Police.

(2) Handover him to the Hotel Security.

(3) Do not speak with him as he is drunk.

(4) Take him to his room and ask him to calm down.

Correct Answer: (4) Take him to his room and ask him to calm down.

Solution: When handling intoxicated guests, it is crucial to remain calm, avoid
confrontation, and help them return to a state of calm.

Step 1: Approach the situation calmly.
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Stay composed and avoid escalating the situation by raising your voice or reacting negatively.
Step 2: Direct the guest to their room.

Guide the guest to their room, ensuring they are safe and calm down in a controlled
environment.

Step 3: Involve security if necessary.

If the situation worsens or becomes unmanageable, involve security to ensure the safety of

the guest and others.

Dealing with intoxicated individuals requires patience and calmness. Always try to de-

escalate the situation and provide them with a safe environment.

196. A delivery boy takes more than usual time to deliver your food, you will:

(1) Not take food from him.

(2) Not pay any amount to him.

(3) Stop ordering in the future from that company.

(4) Write a complaint to the company about the incident.

Correct Answer: (4) Write a complaint to the company about the incident.

Solution: Step 1: Evaluate the situation.

If the delivery takes longer than usual, it may be due to circumstances beyond the delivery
boy’s control, like traffic or weather.

Step 2: Be constructive.

Rather than reacting impulsively, it’s more productive to communicate your concerns to the
company in the form of a complaint. This will allow them to investigate and potentially
address the issue.

Step 3: Avoid jumping to conclusions.

Punishing the delivery boy or refusing to pay may not be fair, as the delay could be due to
external factors.

Step 4: Provide feedback.

By sharing your experience with the company, you give them the opportunity to improve
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their services and ensure customer satisfaction.

Always provide constructive feedback to companies so they can improve their services

and address issues effectively.

197. On a famous monument, you see some people writing something on the walls, you
will:

(1) Educate them for not to write on walls.

(2) Ignore the situation.

(3) Start writing with them.

(4) Take photos and viral on social media.

Correct Answer: (1) Educate them for not to write on walls.

Solution: Step 1: Be respectful and responsible.

Monuments are cultural heritage and should be preserved. Educating people on the
importance of maintaining the integrity of such sites is crucial.

Step 2: Offer guidance.

By politely educating the people about the harm of writing on walls, you help raise
awareness and protect the monument.

Step 3: Stay calm and composed.

Rather than ignoring the situation or participating, taking a stand and educating the
individuals can prevent further damage.

Step 4: Be proactive.

Promoting awareness about cultural preservation helps others understand the importance of

respecting public spaces.

Cultural preservation is everyone’s responsibility. If you see damage being done to

monuments or historical sites, educate others to help preserve heritage.
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198. You have been recently promoted by the management, you would:

(1) Stop performing as now you have already been promoted.

(2) Work hard as now you have more responsibilities.

(3) Start talking with everyone about how you have been promoted.

(4) Move to a new company.

Correct Answer: (2) Work hard as now you have more responsibilities.

Solution: Step 1: Acknowledge the achievement. Being promoted is an accomplishment,
but it should be seen as the beginning of a new chapter in your career, not the end of your
efforts.

Step 2: Accept new responsibilities. With the promotion, there are now greater
expectations. Working hard to meet those expectations is essential for continued success.
Step 3: Stay humble and focused. Rather than boasting about the promotion, focus on the
additional responsibilities and demonstrate your capability through performance.

Step 4: Pursue growth. A promotion is an opportunity to grow both professionally and

personally. Strive to excel in your new role and continue developing your skills.

A promotion is a chance to prove yourself further. Embrace the new responsibilities and

continue to work hard for ongoing success.

199. Eye contact with the guests represents towards:

(1) Honesty and Respect

(2) Disrespect and Dishonesty

(3) Arrogance

(4) Negative Attitude

Correct Answer: (1) Honesty and Respect

Solution: Step 1: Understand non-verbal communication.

Eye contact is a powerful form of body language. In hospitality, it shows attentiveness and
confidence.

Step 2: Build trust.
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Making appropriate eye contact with guests helps establish a connection, making them feel
valued and respected.

Step 3: Project professionalism.

Eye contact also reflects sincerity and honesty, essential traits for maintaining good guest

relations.

Good eye contact with guests creates trust, shows confidence, and communicates re-

spect—key qualities in hospitality service.

200. Aviation, Cruise, Hotels, Travel — all these industries come under:

(1) Manufacturing Industry

(2) Hospitality Industry

(3) Cargo Industry

(4) Telecom Industry

Correct Answer: (2) Hospitality Industry

Solution: Step 1: Identify the common element.

Aviation, cruises, hotels, and travel are all service-oriented sectors focused on guest
satisfaction and experience.

Step 2: Define hospitality industry.

The hospitality industry encompasses businesses that provide services like lodging, food,
recreation, and travel experiences.

Step 3: Classify correctly.

Since these services are part of accommodating and entertaining people, they fall squarely

under the hospitality sector.

Any industry focused on providing services like accommodation, food, and travel is

classified under the hospitality industry.
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